Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacturer Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
2007	CASE	Has avocado, with chucks of ripe tomato, crisp white onion, and cilantro. Approximate pack size 12/1 LB easy squeeze plastic	JTM 73460 Chef Corner's Food OFC2177 Asian Food Solutions 93006 J. R. Simplot 932666 J. R. Simplot 6507941	2,500	SYSCO MEMPHIS LLC	NET 14 DAYS	SIMPLOT	32686	12/1#	66	\$0.55	\$36.48	2500	\$91,200.00		3 WEEKS	AWARD
2007	CASE	crisp white onion, and cilantro. Approximate pack size 12/1 LB easy squeeze plastic	JTM 73460 Chef Corner's Food OFC2177 Asian Food Solutions 93006 J. R. Simplot 932666 J. R. Simplot 6507941	2,500	J.R. Simplot Company	2% 10 net 15 days from invoice or 30 days net	Simplot Harvest Fresh Avocados	10071179932666	12/1#	65.97	\$0.51	\$33.91	2500	\$84,775.00	Please note, that we require 7,500 LBS total for an order.	2 Weeks	Amount required by vendor exceed our ship lot
2320	SERVINGS	Whipped Cream - Pre-whipped topping with light, creamy texture. Packaged in 16 oz. pastry bag with easy open seal. Please indicate if packed differently. Ship Lot: 200 Cases	No Approved Brands	800	Rich Products	2% 10 - net 11 days	Rich's	2559	12/16oz.	672	\$0.06	\$39.24	376	\$14,754.24		1	AWARD

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture r Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1021	SERVINGS	Sandwich, Turkey and Two Cheese Wedge, IW - Whole grain, individually wrapped Turkey Breast with Mozzarella and Amercian Cheese Sandwich on two whole grain Pullman bread slices. Wrapped in an oven safe film. Product to meet 2 oz. grain equivalents and 2 oz. meat/meat alternate for the Child Nutrition Program. CN label or product formulation sheet (PFS) required. Approximate pack, 72/case. If packed differently, please indicate. Ship Lot: 300 Cases	Tasty Brands 70019	250,000	Tasty Brands	1%10, net 20	Tasty Brands	70019	72/4.40 oz	72	\$1.08	3,472	\$77.46	268950	5000# minimum ship - can be combined with Proview Foods orders to meet 6 pallet minimums	2 wks	AWARD
1027	SERVINGS	Muffin, WG, Carrot, IW- Whole grain carrot muffin. Individually wrapped. Must meet 1 oz grain equivalent for the child nutrition program. Product formulation statement or CN Label required. Approximate pack size: 96/case. Ship Lot: 300 Cases	Muffintown -02611	172,800	JSB Industries, Inc.; dba/ Muffin Town	Net 30 days	Muffin Town Smart Choice	02611	96ct/2oz. IW	96	\$0.28	1,800	\$26.59	\$47,865.60	Pricing is direct delivered - 12 pallet combined minimum	20 days	AWARD
1028	SERVINGS	Ham, Black Forest, Sliced - Sliced nitrate/nitrite free ham. Ninty seven percent fat free product. Fluff packed. Each serving to equal a minimum of 1.25 oz. m/ma for the Child Nutrition Program. Must provide crediting statement. Please indicate pack size. Ship Lot: 300 Cases	Gourmet Café 31006	250,000	Tasty Brands	1%10, net 20	Tasty Brands	31006	15/22 oz trays or 183/1.82 oz	183	\$0.48	1,366	\$88.27	\$120,587.50	5000# minimum ship - can be combined with Proview Foods orders to meet 6 pallet minimums	2 wks	NO AWARD ITEM ALREADY AWARDED ON PREVIOUS BID
1038	SERVINGS	seasoned ground beef (no soy additives). Crust made with whole grain flour. Serving to equal a minimum of 2 oz. m/ma and 2 oz. grain equivalents for the Child Nutrition program. Must provide crediting statement. Approximate pack size is 50/case.	Golden Krust BFFS804	100,000	NO BID	NO BID	NO BID	NO BID				#DIV/0!	\$0.00	#DIV/0!			NO BID
		Ship Lot: 300 Cases															

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture r Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1047	SERVINGS	Empanada, Breakfast - IQF, breakfast empanada pie to contain seasoned chorizo, egg and jalapeno stuffed in a pie crust pastry. Serving size to equal a minimum of 1 oz. m/ma and 1 oz. grain equivalents for the Child Nutrition program. Must provide crediting statement. Approximate pack size is 48/case. Ship Lot: 400 Cases	Natchitoches Meat Pie Co. 70389	76,800	Albie's Food Products, LLC	Net 14 business days	Albie's Food Products, LLC	849	60/3oz	60	\$0.74	1,280	\$44.40	\$56,832.00	240 cases/ 3 pallet minimum	2-2.5 business week lead time with Wed- Fri deliveries	AWARD SAMPLE SENT SAMPLE PASSED
		•															
1047	SERVINGS	contain seasoned chorizo, egg and jalapeno stuffed in a pie crust pastry. Serving size to equal a minimum of 1 oz. m/ma and 1 oz. grain equivalents for the Child Nutrition program. Must provide crediting statement. Approximate pack size is 48/case.	Natchitoches Meat Pie Co. 70389	76,800	Albie's Food Products, LLC	Net 14 business days	Albie's Food Products, LLC	859	60/3oz	60	\$0.76	1,280	\$45.60	\$58,368.00	240 cases/ 3 pallet minimum	2-2.5 business week lead time with Wed- Fri deliveries	SAMPLE SENT SAMPLE PASSED BUT SAMPLE DOES NOT MEET SPEC, INDIVIDUALLY
		Ship Lot: 400 Cases															WRAPPED
1047	SERVINGS	Empanada, Breakfast - IQF, breakfast empanada pie to contain seasoned chorizo, egg and jalapeno stuffed in a pie crust pastry. Serving size to equal a minimum of 1 oz. m/ma and 1 oz. grain equivalents for the Child Nutrition program. Must provide crediting statement. Approximate pack size is 48/case.	Natchitoches Meat Pie Co. 70389	76,800	Bake Crafters	Net 14 days	Bake crafters	3723	90/2.8 oz	90	\$0.8248	853	\$74.23	\$63,344.64		3 weeks	NO SAMPLE SENT
		Ship Lot: 400 Cases															
1048	SERVINGS	Meat Pie, Lousiana Mini - IQF,Original, mini Cajun seasoned beef and pork filled meat pie in a pie crust pastry. Serving size to equal a minimum of 2 oz. m/ma and 2 oz. grain equivalents for the Child Nutrition program. Must provide crediting statement. Approximate pack size is 96/case. Ship Lot: 400 Cases	Natchitoches Meat Pie Co. 30389	100,000	NO BID	NO BID	NO BID	NO BID				#DIV/0!	\$0.00	#DIV/0!			NO BID

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture r Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Tota Cost	l Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1062	SERVINGS	Ribs, BBQ - Smoked BBQ St. Louis styled ribs. No sauce added, dry rub. Each serving must equal a minimum of 2 oz. of meat/meat alternate. Packed in whole slabs, 8/1.6 lbs. cryovac bags per case. Approximately 48 servings per case. Ship Lot: 450 Cases	Brookwood Farms 17505	180,000	NO BID	NO BID	NO BID	NO BID				#DIV/0!	\$0.00	#DIV/0!			NO BID
			0.110 1.5 1.511														
1073	SERVINGS	Chicken Breast Filet, Unbreaded, Grilled - Fully-cooked, IQF, whole muscle not formed chicken meat. One filet must provide a minimum of 20z meat/meat alternate for the Child Nutrition meal pattern. CN Label or crediting statement required. Ingredients to be excluded from product label: textured vegetable protein, isolated soy protein, hydrolyzed corn protein, hydrolyzed soy protein. Please indicate pack size. Ship Lot: 500 Cases		250,000	Gold Creek Foods	Net 30 days	Gold Creek Foods	8080	2/5# bags	53	\$0.82	4,717	\$43.41	\$204,750.00	\$4.34/pound. Minimum shipment 5200 pounds or 520cs	3 weeks	AWARD SAMPLE SENT SAMPLE PASSED
1073	SERVINGS	Chicken Breast Filet, Unbreaded, Grilled - Fully-cooked, IQF, whole muscle not formed chicken meat. One filet must provide a minimum of 2oz meat/meat alternate for the Child Nutrition meal pattern. CN Label or crediting statement required. Ingredients to be excluded from product label: textured vegetable protein, isolated soy protein, hydrolyzed corn protein, hydrolyzed soy protein. Please indicate pack size. Ship Lot: 500 Cases		250,000	Cass Ventures dba Fit Foodz	Net 15	Fit Foodz	60104	2/5lb Bags	40	\$1.49	6,250	\$59.50	\$371,875.00		4 Weeks	
1073	SERVINGS	Chicken Breast Filet, Unbreaded, Grilled - Fully-cooked, IQF, whole muscle not formed chicken meat. One filet must provide a minimum of 2oz meat/meat alternate for the Child Nutrition meal pattern. CN Label or crediting statement required. Ingredients to be excluded from product label: textured vegetable protein, isolated soy protein, hydrolyzed corn protein, hydrolyzed soy protein. Please indicate pack size. Ship Lot: 500 Cases		250,000			Proview Foods	62006	2/6 lb bags or 48/4.00 oz	48	\$1.22	5,208	\$58.68	\$305,625.00	Minimum ship - 6 pallets, orders can be combined with Tasty Brands to meet minimums	2 wks	

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture r Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Tota Cost	l Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1073	SERVINGS	Chicken Breast Filet, Unbreaded, Grilled - Fully-cooked, IQF, whole muscle not formed chicken meat. One filet must provide a minimum of 2oz meat/meat alternate for the Child Nutrition meal pattern. CN Label or crediting statement required. Ingredients to be excluded from product label: textured vegetable protein, isolated soy protein, hydrolyzed corn protein, hydrolyzed soy protein. Please indicate pack size. Ship Lot: 500 Cases		250,000	Tyson	Net 30 Days	Tyson Red Label	1.0384E+10	54 / 3 oz	54	\$1.08	4,630	\$58.57	\$271,150.00	Commercial Pricing	2 Weeks	SAMPLE SENT SAMPLE FAILED
1094	SERVINGS	Mozzarella Jalapeno Bites - IQF, Frozen mini mozzarella cheese and jalapeno filled bites, wrapped in a whole grain pastry. Bulk packed. Serving size to equal 2 m/ma and 2 oz. grain equivalents for the Child Nutrition program. Must provide crediting statement. Approximate pack size 240 - 1 oz. servings per case. Ship Lot: 400 Cases	Wild Mike's 11008 Tasty Brands 41006	150,000	Tasty Brands	1%10, net 20	Tasty Brands	41006	6/5 lb bags or 113/4.23 oz	113	\$0.88	1,327	\$99.22	\$131,707.50	5000# minimum ship - can be combined with Proview Foods orders to meet 6 pallet minimums	2 wks	
1094	SERVINGS	Mozzarella Jalapeno Bites - IQF, Frozen mini mozzarella cheese and jalapeno filled bites, wrapped in a whole grain pastry. Bulk packed. Serving size to equal 2 m/ma and 2 oz. grain equivalents for the Child Nutrition program. Must provide crediting statement. Approximate pack size 240 - 1 oz. servings per case. Ship Lot: 400 Cases	Wild Mike's 11008 Tasty Brands 41006	150,000	Rich Products	2%10/Net 11	Rich's	19864	8/3.00 lbs	78	\$0.87	1,923	\$67.79	\$130,365.00		10 Days	AWARD SAMPLE SENT SAMPLE PASSED
1094	SERVINGS		Wild Mike's 11008 Tasty Brands 41006	150,000	S.A. Piazza & Assoc.	Net 14	Wild Mike's	11008	240/1.06oz	240	\$0.295	625	\$70.80	\$44,250.00			FOUR BITES EQUALS A SERVING AND COST PER SERVING INCREASED TO 1.18 PER SERVING

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture r Product Code	Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1256	SERVINGS	Taco Stick-IW, taco flavored beef with cheese rolled on a WG tortilla. Must provide at least 2 oz meat/meat alternate and 2 oz grain equivalent for the Child Nutrition Program. Approximate pack: 50 servings per case. If packed differently, please indicate. Ship Lot: 500 Cases	Intergrated Food Service 270019	150,000	Sysco Memphis, LLC	Net 14 days	Integrated foods	270019	50/4.6oz	50	\$1.32	3,000	\$65.90	\$197,700.00		4 weeks	
1256	SERVINGS	Taco Stick-IW, taco flavored beef with cheese rolled on a WG tortilla. Must provide at least 2 oz meat/meat alternate and 2 oz grain equivalent for the Child Nutrition Program. Approximate pack: 50 servings per case. If packed differently, please indicate. Ship Lot: 500 Cases	Intergrated Food Service 270019	150,000	Integrated Food Service	NET 30	Hot Off The Grill	270019	50/4.60 oz.	50	\$1.20	3,000	\$60.00	\$180,000.00		4 weeks	AWARD
1256	SERVINGS	Taco Stick-IW, taco flavored beef with cheese rolled on a WG tortilla. Must provide at least 2 oz meat/meat alternate and 2 oz grain equivalent for the Child Nutrition Program. Approximate pack: 50 servings per case. If packed differently, please indicate. Ship Lot: 500 Cases	Intergrated Food Service 270019	150,000	SIDE DISH 5	NET 10 Days	SIDE DISH 5 INC	90527	4.75 OZ	30	\$1.22	5,000	\$36.60	\$183,000.00			NO SAMPLE SENT
1695	SERVINGS	Burrito, Dog Chili Cheese - Whole grain flour burrito filled with a whole beef hot dog, chili and cheese. Item must be a minimum of 2 oz. whole grain equivalent and 2 oz. meat/meat alternate for th Child Nutrition Program. Bulk packed approximately 60 servings per case. If packed differently, please indicate. Ship Lot: 300 Cases	Side Dish 5 CDB-6055	210,000	SIDE DISH	Ney 10 Days	SIDE DISH 5 INC	CDB-055	4.25 OZ	60	\$1.85	3,500	\$111.00	\$388,500.00			AWARD
1778	SERVINGS	Flat Bread, Soft, Whole Wheat, Frozen. Each flatbread to provide 2.0 oz equivalent grain per Child Nutrition Program. CN label or product formulation sheet required for crediting. Approximately packed 144-2oz flatbread/case. If packed differently, please indicate. Ship Lot: 200 Cases	Rich Products 20452	144,000	Rich Products	2%10/Net 11	Rich's	14010	192/2.20oz	192	\$0.21	750	\$41.05	\$30,787.20		10 Days	AWARD

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture r Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1778	SERVINGS	Flat Bread, Soft, Whole Wheat, Frozen. Each flatbread to provide 2.0 oz equivalent grain per Child Nutrition Program. CN label or product formulation sheet required for crediting. Approximately packed 144-2oz flatbread/case. If packed differently, please indicate. Ship Lot: 200 Cases	Rich Products 14010	144,000	Sysco Memphis, LLC	Net 14days	rich	14010	192/2oz	192	\$0.26	750	\$49.92	\$37,440.00		3 weeks	
1780	SERVINGS	Hummus, Classic- Frozen, mixture of garbanzo beans, tahini, and garlic. Each serving to equal 1 meat/meat alternate per the child nutrition guidelines. Serving size must meet a minimum of 3 oz. Please provide CN label or product formulation sheet for crediting. Approximate pack size: 6/24oz per case. Ship Lot: 200	Grecian 4340	200,000	SIDE DISH 5	Neyt 10 Days	SIDE DISH 5 INC	10238	4 lbs	80	\$0.53	2,083	\$50.88	\$105,983.04			NO SAMPLE SENT
1867	SERVINGS		Albie's 607 Sunwise Foods12228	288,000	CHURCHFIELD TRADING	NET 30	ALBIES	607	72/2.4OZ	72	\$0.75	4,000	\$53.96	\$215,856.00	607 IS 2.4 OZ EACH	14 DAYS	
1867	SERVINGS		Albie's 607 Sunwise Foods12228	288,000	Sysco Memphis, LLC	Net 14days	Albies	607	72/2.4oz	72	\$0.81	4,000	\$58.10	\$232,416.00		4 weeks	

Bit Bullemakers That Durise From What is Basing Rocested in The Secretarions Bellew Will Genomeror A Man Accordance Secretarions Bellew Will Genomeror Genomeror Coll Part College Control of College C	Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture r Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Tota Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
## PECK SIZES FOR MINUTE SERVICES Respected to The Specimization Share Annual Service Processor Services ## Respected to The Specimization Share and Garge AND - Foreign Services ## ANNUAL STATE OF THE PROCESSOR SHARE SHARE AND	Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
SERVINGS			Requested In The Specifications Below Will Be Considered	FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED	Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample													
Individually wapped. I serving to meet an inimizant of col grain and 1 cor of grain and 1 cor or meetings explained sequencing sequencing per Core of the Company Standards. Please provides (N abel or Products, LLC N and N approximate) Pack: 72.2 8 co. /sate. SERVINGS SINJE Lot: 400 Cases Sinje Lot: 400 C	1867	SERVINGS	individually wrapped. 1 serving to meet a minimum of 1 oz of grain and 1 oz meat/meat alternate equivalents per Child Nutrition Programs Standards. Please provide CN label or product formulation sheet for crediting. Approximate Pack: 72-2.8 oz./case.		288,000	Inc.; SunWie	Net 30 days	SunWise Foods	/ 12258		96	\$0.71	3,000	\$68.54	\$205,632.00	delivered - 12 pallet	20 days	AWARD SUNWISE FOOD 12228 WITH THE GRAPE JELLY
In bag. Approximately 8/4lb bags per case. Each serving to provide 1oz whole grain for the child nutrition program. CN label or crediting statement required. 350,000 SIDE DISH 5 NET 10 Days SIDE DISH 5 INC BG3809 4 lbs 80 \$0.55 4,375 \$44.00 \$192,500.00 \$4.00 \$4.0	1867	SERVINGS	individually wrapped. 1 serving to meet a minimum of 1 oz of grain and 1 oz meat/meat alternate equivalents per Child Nutrition Programs Standards. Please provide CN label or product formulation sheet for crediting. Approximate Pack: 72-2.8 oz./case.		288,000				607	72/2.4oz	72	\$0.74	4,000	\$53.28	\$213,120.00		lead time with Wed-	
flavored chicken. Product to be all natural, breast meat, nitrite and nitrate free, no artificial colors/flavors and feather packed for easy sandwich assembly. Each serving to meet 1.00 oz eq meat/meat alternate. Case pack 205 servings per case, indicate if packed differently. 328,000 Tasty Brands 140, net 20 Tasty Brands 31018 15/22 oz trays or 235/1.40 oz 235 \$0.41 1,396 \$97.35 \$135,874.00 \$400# minimum ship-can be combined with Proview Foods orders to meet 6 pallet minimums	1880	SERVINGS	in bag. Approximately 8/4lb bags per case. Each serving to provide 1oz whole grain for the child nutrition program. CN label or crediting statement required.	Side Dish 5 BG3809	350,000	SIDE DISH 5	NET 10 Days	SIDE DISH 5 INC	BG3809	4 lbs	80	\$0.55	4,375	\$44.00	\$192,500.00			AWARD
	1931		flavored chicken. Product to be all natural, breast meat, nitrite and nitrate free, no artificial colors/flavors and feather packed for easy sandwich assembly. Each serving to meet 1.00 oz eq meat/meat alternate. Case pack 205 servings per case, indicate if packed differently.		328,000	Tasty Brands	1%10, net 20	Tasty Brands	31018	trays or	235	\$0.41	1,396	\$97.35	\$135,874.00	can be combined with Proview Foods orders to meet 6 pallet		AWARD

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture r Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
2002	SERVINGS	Personal Pizza, 5" Turkey Pepperoni WG -Round Pepperoni pizza with whole grain 5" crust. Made with turkey pepperoni, savory marinara sauce and mozzarella cheese. Pizza individually packaged in an ovenable box. Pizza meets 2 oz. meat/meat alternate and 2 oz. grain equivalents for the Child Nutrition Program. Please provide a Product Formulation Sheet or crediting statment. Packed approximately 40/cs - 5.38 oz servings/case. Ship Lot: 600 Cases	Nardone's 40WRMTP3 SA Piazza/Wild Mike's 80649	300,000	Nardone Bros.	1%, Net 10	Nardone Bros.	40WRMTP3	40	41.26	\$1.03	7,271	\$42.50	\$309,000.00		2 weeks	AWARD
2002	SERVINGS	Personal Pizza, 5" Turkey Pepperoni WG -Round Pepperoni pizza with whole grain 5" crust. Made with turkey pepperoni, savory marinars sauce and mozzarella cheese. Pizza individually packaged in an ovenable package. Pizza meets 2 oz. meat/meat alternate and 2 oz. grain equivalents for the Child Nutrition Program. Please provide a Product Formulation Sheet or crediting statment. Packed approximately 40/cs - 5.38 oz servings/case. Ship Lot: 600 Cases	Nardone's 40WRMTP3 SA Piazza/Wild Mike's 80649	300,000	S.A. Piazza & Assoc.	Net 14	Wild Mike's	80649	80/5.63oz	80	\$1.219	3,750	\$97.52	\$365,700.00			
2300	SERVINGS	Cookie, Sugar, IW - Whole grain sugar cookie, individually wrapped. Thaw and serve. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 120 per case. Please indicate if packed differently. Ship Lot: 400 Cases	Conesoga/CH Guenther 225068	600,000	CHURCHFIELD TRADING	NET 30	CH GUENTHER	225068	120/1.3	120	\$0.29	5,000	\$34.29	\$171,450.00		14-21 DAYS	
2300	SERVINGS	Cookie, Sugar, IW - Whole grain sugar cookie, individually wrapped. Thaw and serve. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 120 per case. Please indicate if packed differently. Ship Lot: 400 Cases	Conesoga/CH Guenther 225068	600,000	Buena Vista Foods	N30	Buena Vista Foods	79815	120/1.5oz	120	\$0.43	5,000	\$51.60	\$258,000.00	6 pallet delivery minimum (mixed cases okay)	4 week delivery lead time	SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture r Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
2300	SERVINGS	Cookie, Sugar, IW - Whole grain sugar cookie, individually wrapped. Thaw and serve. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 120 per case. Please indicate if packed differently. Ship Lot: 400 Cases	Conesoga/CH Guenther 225068	600,000	ES Foods	Net 30	Classic	8405	120/1.5 oz	120	\$0.30	5,000	\$36.00	\$180,000.00	Bid as Alternate - Samples delivered on 67724. ES Foods #8405 - Sugar Cookie, WG, IW, 120/1.25 oz per case. Thaw & Serve. Smart Snack Compliance. Each 1.25 oz meet 1 Grain. Order Min: 5000 lbs (378 cases) combined.	3 weeks (21 days) after receipt of orders. Lead-time does not include transit time which can take from 3-5 days. LTL orders ship on Friday	SAMPLE SENT SAMPLE PASSED
2300	SERVINGS	Cookie, Sugar, IW - Whole grain sugar cookie, individually wrapped. Thaw and serve. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 120 per case. Please indicate if packed differently. Ship Lot: 400 Cases	Conesoga/CH Guenther 225068	600,000	Sysco Memphis, LLC	net 14 days	CH Guenther/conestoga	225068	120/1.3oz	120	\$0.26	5,000	\$31.76	\$158,820.00	new item set up	5 weeks	AWARD
2301	SERVINGS	Cookie, Fudge, W- Whole grain chocolate fudge cookie, individually wrapped cookie. Thaw and serve. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 120 per case. Please indicate if packed differently. Ship Lot: 400 Cases	Conesoga/CH Guenther 225065 Rich's 3593	600,000	CHURCHFIELD TRADING	NET 30	CH GUENTHER	225065	120/1.3	120	\$0.25	5,000	\$29.63	\$148,140.00		14-21 DAYS	AWARD
2301	SERVINGS	Cookie, Fudge, IW- Whole grain chocolate fudge cookie, individually wrapped cookie. Thaw and serve. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 120 per case. Please indicate if packed differently. Ship Lot: 400 Cases	Conesoga/CH Guenther 225065 Rich's 3593	600,000	ES Foods	Net 30	Classic	8407	120/1.5 oz	120	\$0.30	5,000	\$36.00	\$180,000.00	Bid as Alternate - Samples delivered on 6/7/24. Es Foods #8407 - Double Chocolate Brownie (Hershey Chips) Cookie, WG, IW, 120/1.25 oz per case. Thaw & Serve. Smart Snack Compliance. Each 1.25 oz meet 1 Grain. Order Min: 5000 lbs (378 cases) combined.	3 weeks (21 days) after receipt of orders. Lead-time does not include transit time which	SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture r Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.													
2301	SERVINGS	Cookie, Fudge, IW- Whole grain chocolate fudge cookie, individually wrapped cookie. Thaw and serve. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 120 per case. Please indicate if packed differently. Ship Lot: 400 Cases	Conesoga/CH Guenther 225065 Rich's 3593	600,000	Rich Products	2%10/Net 11	Rich's	3593	120/1.70 oz	120	\$0.44	5,000	\$53.27	\$266,340.00		10 Days	
2301	SERVINGS	or crediting statement and smart snack guidelines. Packed approximately 120 per case. Please indicate if packed differently.	Conesoga/CH Guenther 225065 Rich's 3593	600,000	Sysco Memphis, LLC	net 14 days	CH Guenther/conestoga	225065	120/1.3oz	120	\$0.31	5,000	\$36.77	\$183,840.00	new item set up	5 weeks	
		Ship Lot: 400 Cases															
2302	SERVINGS	Turkey Ham & Cheese Wrap - Turkey ham with mozzarella and American cheeses wrapped in a WG tortilla. 1 wrap to meet 2 oz meat/meat alternate and 2 oz equivalent grain per the Child Nutrition Program. Must provide CN label and crediting statements. Approx. pack size 80. Please indicate if packed differently. Ship Lot: 400 Cases	No Approved Brands	200,000	Tasty Brands	1%10, net 20	Tasty Brands	70006	80/3.50 oz	80	\$1.02	2,500	\$81.88	\$204,700.00	5000# minimum ship - can be combined with Proview Foods orders to meet 6 pallet minimums	2 wks	AWARD
2311	SERVINGS	Green Chicken Enchiladas, Bulk - whole grain com tortilla containing white chicken meat, tomatillo, cheese with a green verde sauce. Ship Lot: 400 Cases	Fresh Start GCECO2	300,000	Fresh Start Healthy Meals	Net 21	Fresh Start Healthy Meals	GCEC02	1/20.5 lb	35	\$1.10	8,571	\$38.50	\$330,000.00	Direct delivered 400 cases minimum (mixed orders accepted)	4 week delivery lead time	AWARD
2316	SERVINGS	Noodles, Lo Mein, WG - frozen whole wheat noodle. Each serving to provide 2 oz. grain equivalent. Must provide CN label or crediting statement. 6/5 lb. bags per case. Ship Lot: 300 Cases	Schwan's/Twin Marquis Yakisoba Noodles 66931	200,600	CHURCHFIELD TRADING	NET 30	ASIAN FOOD SOLUTIONS	22001WG	4/5.15LB	160	\$0.25	1,254	\$39.96	\$50,099.85	SAMPLE SENT	21-28 DAYS	SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture r Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Tota Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
2316	SERVINGS	Noodles, Lo Mein, WG - frozen whole wheat noodle. Each serving to provide 2 oz. grain equivalent. Must provide CN label or crediting statement. 6/5 lb. bags per case. Ship Lot: 300 Cases	Schwan's/Twin Marquis Yakisoba Noodles 66931	200,600	Schwan's Food Service, Inc.	Net 30 days	Twin Marquis	66931	4.05 oz 119 svgs	119	\$0.43	1,686	\$51.40	\$86,639.14		2 weeks - please see attached Sailing Schedule	SAMPLE SENT SAMPLE FAILED
2316	SERVINGS	Noodles, Lo Mein, WG - frozen whole wheat noodle. Each serving to provide 2 oz. grain equivalent. Must provide CN label or crediting statement. 6/5 lb. bags per case. Ship Lot: 300 Cases	Schwan's/Twin Marquis Yakisoba Noodles 66931	200,600	International Food Solutions, Inc.	Pricing is not valid through Dot Foods, a redistributor. 6 Pallet Minimum Delivery per Drop.	Asian Food Solutions	22001WG	4/5.15lbs Bag	160	\$0.23	1,254	\$37.00	\$46,388.75	Pricing is not valid through Dot Foods, a redistributor. 6 Pallet Minimum Delivery per Drop.	3-4 Business Weeks	AWARD
2317	SERVINGS	Brownie and Cookie Dessert -combination of brownie and cookie and is smart snack certified. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 100 per case If packed differently, please indicate.	Buena Vista Foods 84440	400,000	Buena Vista Foods	N30	Buena Vista Foods	84440	96/1.5oz	96	\$0.49	4,167	\$47.04	\$196,000.00	6 pallet delivery minimum (mixed cases okay)	4 week delivery lead time	AWARD SAMPLE SENT SAMPLE PASSED
2317	SERVINGS	Ship Lot: 300 Cases Brownie and Cookie Dessert -combination of brownie and cookie and is smart snack certified. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 100 per case If packed differently, please indicate. Ship Lot: 300 Cases	Buena Vista Foods 84440	400,000	Sysco Memphis, LLC	net 14days	buena vista	84440	96/10.5oz	96	\$0.59	4,167	\$56.26	\$234,400.00	new item set up	6 weeks	
2318	SERVINGS	Brownie, WG, IW - chocolate brownie that is smart snack certified. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 100 per case If packed differently, please indicate. Ship Lot: 300 Cases	Buena Vista Foods 82220	400,000	CHURCHFIELD TRADING	NET 30	CH GUENTHER	224989	96/1.75	96	\$0.44	4,167	\$41.94	\$174,750.00		14-21 DAYS	AWARD SAMPLE SENT SAMPLE PASSED
2318	SERVINGS	Brownie, WG, IW - chocolate brownie that is smart snack certified. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 100 per case If packed differently, please indicate. Ship Lot: 300 Cases	Buena Vista Foods 82220	400,000	Buena Vista Foods	N30	Buena Vista Foods	82220	96/2.0oz	96	\$0.52	4,167	\$50.32	\$209,666.40	6 pallet delivery minimum (mixed cases okay)	4 week delivery lead time	

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture r Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
2318		Brownie, WG, IW - chocolate brownie that is smart snack certified. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 100 per case If packed differently, please indicate. Ship Lot: 300 Cases	Buena Vista Foods 82220	400,000	Sysco Memphis, LLC	net 14days	buena vista	82220	96/2oz	96	\$0.58	4,167	\$55.30	\$230,400.00	new item set up	6 weeks	
2318	SERVINGS	Brownie, WG, IW - chocolate brownie that is smart snack certified. Must provide CN or crediting statement and smart snack guidelines. Packed approximately 100 per case If packed differently, please indicate. Ship Lot: 300 Cases	Buena Vista Foods 82220	400,000	JSB Industries, Inc.; dba/ Muffin Town	Net 30 days	Smart Choice	90429 - fudge / 90449- Blondie	96ct/1.75oz. IW	96	\$0.28	4,167	\$26.59	\$110,800.00	Pricing is direct delivered - 12 pallet combined minimum	20 days	SAMPLE SENT SAMPLE FAILED
2321	SERVINGS	Cookie Dough, Chocolate Chip, Frozen - Raw, pre-cut chocolate chip cookie dough to meet 1oz grain equivalent for the child nutrition program. Must provide CN or crediting statement and smart snack guidelines. Packed 140 per case. If packed differently, please indicate. Ship Lot: 300 Cases	No Approved Brands	150,000	Buena Vista Foods	N30	Buena Vista Foods	78185	135/1.85oz	135	\$0.37	1,111	\$49.95	\$55,500.00	6 pallet delivery minimum (mixed cases okay)	4 week delivery lead time	SAMPLE SENT SAMPLE PASSED
2321	SERVINGS	Cookie Dough, Chocolate Chip, Frozen - Raw, pre-cut chocolate chip cookie dough to meet 1oz grain equivalent for the child nutrition program. Must provide CN or crediting statement and smart snack guidelines. Packed 140 per case. If packed differently, please indicate. Ship Lot: 300 Cases	No Approved Brands	150,000	Sysco Memphis, LLC	Net 14 days	J&J-Readibake	14921	192/1.85oz	192	\$0.26	781	\$50.50	\$39,450.00	new item set up	5 weeks	NO SAMPLE SENT
2321	SERVINGS	Cookie Dough, Chocolate Chip, Frozen - Raw, pre-cut chocolate chip cookie dough to meet 1oz grain equivalent for the child nutrition program. Must provide CN or crediting statement and smart snack guidelines. Packed 140 per case. If packed differently, please indicate. Ship Lot: 300 Cases	No Approved Brands	150,000	Aspire Bakeries	15 Days	Otis Spunkmeyer Delicious Essentials	55680	240/1.5 oz	240	\$0.1757	625	\$42.17	\$26,356.25		Please provide forecast-10 days	AWARD SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture r Product Code	Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Tota Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
2322	SERVINGS	Unfrosted, Frozen Sheet Cake - Fully baked, 1/2 sheet white layer cake with a light, moist texture and sweet flavor. Frozen and packed 5 per case. If packed differently, please indicate. Ship Lot: 300 Cases	No Approved Brands	100,000	Rich Products	2%10/Net 11	Rich's	6712	5/48 oz	100	\$0.50	1,000	\$50.42	\$50,420.00		10 Days	AWARD SAMPLE SENT SAMPLE PASSED
2336	SERVINGS	Onion Rings, WG - Breaded oven ready onion rings, WG and is smart snack certified. Must provide CN or crediting statement and smart snack guidelines. Approximately packed 172 per case. If packed differently, please indicate. Ship Lot: 300 Cases	Tasty Brands 33507	250,000	Tasty Brands	1%10, net 20	Tasty Brands	33507	6/5 lb bags or 172/2.78 oz	172	\$0.43	1,453	\$74.38	\$108,110.00	5000# minimum ship - can be combined with Proview Foods orders to meet 6 pallet minimums	2 wks	AWARD
2339	SERVINGS	French Toast, Fruit Flavored, WG, IW - Citrus Flavored mini french toast. Heat and Serve, citrus flavored french toast. Approximately packed 72 ct per case. If packed differently, please indicate. Ship Lot: 300 Cases	Pillsbury 37308	150,000	CHURCHFIELD TRADING	NET 30	GENERAL MILLS/ PILLSBURY	37308	72/2.95 OZ	72	\$0.49	2,083	\$35.22	\$73,365.00	448 CS MIN	14 DAYS	AWARD
2340	SERVINGS	Taco, Breakfast - WG flour tortilla stuffed with cheese, chicken, and diced potatoes. Each taco to provide 1 oz. m/ma and 1 oz. grain equivalent for the Child Nutrition program. Must provide CN or crediting statement. Approximately packed 96 per case. If packed differently, please indicate. Ship Lot: 300 Cases	Don Lee SCUBKFT	201,600	DON LEE FARMS	NET 30 DAYS	DON LEE FARMS	SCUBKFT	94/2.57 oz. (15.10 lbs.)	94	\$0.81	2,145	\$76.10	\$163,215.36	5,000 lbs. COMBINED MINIMUM FOR DELIVERY.	10-14 BUSINESS DAYS	AWARD
2341	SERVINGS	Soup, Chicken Tortilla - Flavorful Southwestern loaded soup with chicken, beans, tomatoes, corn, mexican seasonings, and tortilla strips. Approximately packed 4/ 4 pound bags per case. If packed differently, please indicate. Ship Lot: 300 Cases	No Approved Brands	100,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture r Product Code	Pack Size	Estimated Servings Per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
2342	SERVINGS	tortilla containing white chicken meat, tomatillo, cheese with a green verde sauce.	Fresh Start GCECO1	150,000	Fresh Start Healthy Meals	Net 21	Fresh Start Healthy Meals	GCEC01	64/8.85oz	64	\$1.050	2,344	\$67.20	\$157,500.00	Direct delivered 400 cases minimum (mixed orders accepted)		AWARD
		Ship Lot: 400 Cases															
3009	SERVINGS	Chicken Turkey Ham & 2 Cheese on Wedge Sandwich, Whole Grain, IW- Whole grain, individually wrapped Chicken, Turkey Ham, American Cheese & Mozzarella Cheese sandwich. Wrapped in an oven safe film. Product to meet 2 oz. grain equivalents and 2 oz. meat/meat alternate for the Child Nutrition Program. CN label or product formulation sheet (PFS) required. Approximate pack, 72/case. If packed differently, please indicate. Ship Lot: 150 cases	Tasty Brands 70013	250,000	Tasty Brands	1%10, net 20	Tasty Brands	70013	72/4.45 oz	72	\$1.06	3,472	\$76.60		5000# minimum ship - can be combined with Proview Foods orders to meet 6 pallet minimums		AWARD

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1052	SERVINGS	Cinnamon Brown Sugar Crackers, cinnamon brown sugar flavored - Made with whole grain wheat flour. No character shapes, Individual packet servings. Must meet 1 oz. grain eq. for the Child Nutrillon program and must meet smart snack guidelines. Please provide crediting. Approximate Pack: 120/case. If packed differently, please indicate. Ship Lot: 300	Belvita 93200027600/2769	150,000	CHURCHFIELD TRADING	NET 30	appleways	71000	108/1oz	108	\$0.27	1389	\$29.48	\$40,950.00	can combine with other appleways/darlington	7-14 DAYS	NO SAMPLE SENT
1052	SERVINGS	Cinnamon Brown Sugar Crackers, cinnamon brown sugar flavored - Made with whole grain wheat flour. No character shapes. Individual packet servings. Must meet 1 oz. grain eq. for the Child Nutrition program and must meet smart snack guidelines. Please provide crediting. Approximate Pack: 120/case. If packed differently, please indicate. Ship Lot: 300	Belvita 93200027600/2769	150,000	Sysco Memphis, LLC	Net 14days	Mondelez	2769	120/1oz	120	\$0.31	1250	\$36.84	\$46,050.00		4 weeks	AWARD SAMPLE SENT SAMPLE PASSED
1089	SERVINGS	Chocolate Chip Cookles - IW, Mini Chocolate Chip Cookles. Single packaged mini Chocolate Chip Cookles to meet 1 oz. grain equivalent for the Child Nutrition Program. Must provide CN or crediting statement and Smart Snack guidelines. Packed 100 per case. If packed diferently, please indicate. Ship Lot: 200	Bakecrafters 527 Grandmas 66154	300,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
1100	SERVINGS	WG Animal Crackers, Berry Flavored- Animal shaped with a sweet and tart tart berry flavor. Must be at least 50% Whole Grain made with whole wheat flour. Individually wrapped. Meets 1 oz. grain eq., for the Child Nutrition Program. Must meet guidelines for the CACFP program. Approximate Pack: 108/.9oz. per case. Ship Lot: 200	Appleways 72400	200,000	Epallet Inc.	Net 30 days	Darlington Farms / Appleways	72400	0.9 oz	108	\$0.44	1852	\$47.52	\$88,000.00	Min. order 2 pallets of Darlington products, can be mixed in even layers. Each layer has 6 cases.	4.5 weeks	
1100	SERVINGS	WG Animal Crackers, Berry Flavored - Animal shaped with a sweet and tart tart berry flavor. Must be at least 50% Whole Grain made with whole wheat flour . Individually wrapped. Meets 1 oz. grain eq. for the Child Nutrition Program. Must meet guidelines for the CACFP program. Approximate Pack: 108/.9oz. per case. Ship Lot: 200	Appleways 72400	200,000	CHURCHFIELD TRADING	NET 30	APPLEWAYS	72400	108/.9OZ	108	\$0.28	1852	\$29.78	\$55,140.00	can combine with other appleways/darlington	7-14 DAYS	AWARD

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1114	SERVINGS	Salad Dressing, Italian, Fat-Free or Light, Individual Portion control Pkg, 1oz Trans fat free. Must be shelf stable. Packed 100/case. Ship Lot: 200	Hidden Valley Ranch 13356 House Blend 78804 Flavor Fresh 77008 Winland Foods 85116475061	200,000	Robbins Sales Co, Inc.	N30	Flavor Fresh	77008	100/1oz	100	\$0.14	2000	\$14.43	\$28,860.00	5,000# Minimum Shipment. Products can be combined with any Dyma Brands item to meet minimum ship weight. Pallets can be mixed when ordered in layer quantities	3 Weeks	
1114	SERVINGS	Salad Dressing, Italian, Fat-Free or Light, Individual Portion control Pkg, 1oz Trans fat free. Must be shelf stable. Packed 100/case. Ship Lot: 200	Hidden Valley Ranch 13356 House Blend 70804 Flavor Fresh 77008	200,000	DYMA BRANDS, INC.	1% 10/NET 11	FLAVOR FRESH	77008	100/1Z	100	\$0.1240	2000	\$12.40	\$24,800.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	3 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY, MOST PO'S MANUFACTURED UPON RECEIPT.	AWARD
1114	SERVINGS	Salad Dressing, Italian, Fat-Free or Light, Individual Portion control Pkg, 1oz Trans fat free. Must be shelf stable. Packed 100/case. Ship Lot: 200	Hidden Valley Ranch 13356 House Blend 78804 Flavor Fresh 77008	200,000	Marzetti	2/10 Net 30	Marzetti	81905	1oz	102	\$0.1372	1961	\$13.99	\$27,431.37	Available thru DOT	5 Business Days	SAMPLE SENT SAMPLE APPROVED
1117	SERVINGS	Salad Dressing, Blue Cheese, Individual Approximately I Pkg, 1.5 oz. portion contro - Trans fat free. Must be shelf stable. Packed 100/case. Ship Lot: 200	Marzetti 87206 Winland Foods 857459D5061	200,000	Robbins Sales Co, Inc.	N30	Flavor Fresh	77024	60/1.5oz	60	\$0.30	3333	\$17.79	\$59,300.00	5,000# Minimum Shipment. Products can be combined with any Dyma Brands item to meet minimum ship weight. Pallets can be mixed when ordered in layer quantities	3 Weeks	SAMPLE SENT SAMPLE PASSED
1117	SERVINGS	Salad Dressing, Blue Cheese, Individual Approximately I Pkg, 1.5 oz. portion contro - Trans fat free. Must be shelf stable. Packed 100/case. Ship Lot: 200	Marzetti 87206 Winland Foods 857459D5061	200,000	CHURCHFIELD TRADING	NET 30	CF SAUER	8401	120/1.5OZ	120	\$0.37	1667	\$44.46	\$74,100.00	SAMPLE SENT AND SCS IS CURRENTLY USING 3K LB MIN CAN COBINE OF SAUER PRODUCTS	7-14 DAYS	SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1117		Salad Dressing, Blue Cheese Light, Individual Approximately I Ptg. 1.5 oz. portion contro - Trans fat free. Must be shelf stable. Packed 100/case. Ship Lot: 200		200,000	DYMA BRANDS, INC.	1% 10/NET 11	FLAVOR FRESH	77024	60/1.5Z	60	\$0.2558	3333	\$15.35	\$51,166.67	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	4 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY. MOST PO'S MANUFACTURED UPON RECEIPT.	AWARD SAMPLE SENT SAMPLE PASSED
1117		Salad Dressing, Blue Cheese Light, Individual Approximately I Pkg. 1.5 oz. portion contro - Trans fat free. Must be shelf stable. Packed 100/case. Ship Lot: 200	Marzetti 87206 Winland Foods 857459D5061	200,000	Marzetti	2/10 Net 30	Marzetti	87206	1.5	120	\$0.2714	1667	\$32.57	\$54,283.33	Available thru DOT	5 Business Days	
1142		Breakfast Cereal Bar, Strawberry Flavored Minimum of 1.25 oz. Cereal bar made from whole grain cats. Whole grain bar that meets 1 oz. grain equivalent serving for the child nutrition program. Approximate pack: 160/1,3oz servings per case. Ship Lot: 200	ZeeZee's B60475 Darlington Appleways 70400 Kellogg's 563117 Kellogg's 1400482	300,000	Epallet Inc.	Net 30 days	Darlington Farms / Appleways	70400	1.2 oz	216	\$0.39	1389	\$84.24	\$117,000.00	Min. order 2 pallets of Darlington products, can be mixed in even layers. Each layer has 6 cases.	4.5 weeks	
1142	SERVINGS	Breakfast Cereal Bar, Strawberry Flavored Minimum of 1.25 oz. Cereal bar made from whole grain oats. Whole grain bar that meets 1 oz. grain equivalent serving for the child nutrition program. Approximate pack: 160/1.3oz servings per case. Ship Lot: 200	ZeeZee's B60475 Darlington Appleways 70400 Kellogg's 583117 Kellogg's 1400482	300,000	CHURCHFIELD TRADING	NET 30	APPLEWAYS	70400	216/1.2OZ	216	\$0.28	1389	\$61.25	\$85,068.00	MIN ORDER 432 CS CAN COMBINE WITH 1100 AND 1567 AND 1607	7-14 DAYS	
1142	SERVINGS	Breakfast Cereal Bar, Strawberry Flavored Minimum of 1.25 oz. Cereal bar made from whole grain oats. Whole grain bar that meets 1 oz. grain equivalent serving for the child nutrition program. Approximate pack: 160/1.3oz servings per case. Ship Lot: 200	ZeeZee's B60475 Darlington Appleways 70400 Kellogg's 563117 Kellogg's 1400482	300,000	Sysco Memphis, LLC	net 14 days	Kellanova	59772	96/1.55oz	96	\$0.33	3125	\$31.68	\$99,000.00	nutrigrain	3 weeks - Drop ship	KELLOGGS BRANE HAS CHANGED OVER TO KELLANOVA. THE NEW PRODUC CODE IS 59772
1142		Breakfast Cereal Bar, Strawberry Flavored Minimum of 1.25 oz. Cereal bar made from whole grain oats. Whole grain bar that meets 1 oz. grain equivalent serving for the child nutrition program. Approximate pack: 160/1.3oz servings per case. Ship Lot: 200	ZeeZee's B60475 Darlington Appleways 70400 Kellogg's 58117 Kellogg's 1400482	300,000	National Food Group	Net 30 days	Zee Zees	D60475	175/ 1.3 oz	175	\$0.26	1714	\$45.50	\$78,000.00	Our pack size has changed on the item speced. This resulted in "B" changing to "D" in the item code. Please order in even pallet qty of 48 cases.	3 weeks	AWARD

			Approved Brand														
Stock Number	Unit	Description	(Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.			50.00.00			Column				Solution 10			
1179	SERVINGS	Jetly, Grape- In individual 1/2 oz. easy open packet. Natural grape flavor. Approximate pack: 200 units Ship Lot: 500	Heinz 543702 Welch's WELC472 Smucker's 764 CF Sauer 06860 Smucker's 4043923	450,000	Robbins Sales Co, Inc.	N30	Welch's	70163	200/0.5oz	200	\$0.0722	2250	\$14.43	\$32,467.50	5,000# Minimum Shipment. Products can be combined with any Dyma Brands item to meet minimum ship weight. Pallets can be mixed when ordered in layer quantities	3 Weeks	SAMPLE SENT SAMPLE PASSED
1179	SERVINGS	Jelly, Grape- In individual 1/2 oz. easy open packet. Natural grape flavor. Approximate pack: 200 units Ship Lot: 500	Heinz 543702 Welch's WELC472 Smucker's 764 CF Sauer 06860 Smucker's 4043923	450,000	CHURCHFIELD TRADING	net 30	cf sauer	6367	200/.05oz	200	\$0.10	2250	\$20.81	\$46,822.50	SAMPLE SENT AND SCS IS CURRENTLY USING 3K LB MIN CAN COBINE CF SAUER PRODUCTS	7-14 DAYS	ADD AS AN APPROVED BRAND
1179	SERVINGS	Jelly, Grape- In individual 1/2 oz. easy open packet. Natural grape flavor. Approximate pack: 200 units Ship Lot: 500	Heinz 543702 Welch's WELC472 Smucker's 764 CF Sauer 06860 Smucker's 4043923	450,000	Sysco Memphis, LLC	Net 14days	Kraft/Heinz	543702	200/.5oz	200	\$0.07	2250	\$13.60	\$30,600.00		3 weeks	
1179	SERVINGS	Jelly, Grape- In individual 1/2 oz. easy open packet. Natural grape flavor. Approximate pack: 200 units Ship Lot: 500	Heinz 543702 Welch's WELC472 Smucker's 764 CF Sauer 06860 Smucker's 4043923	450,000	DYMA BRANDS, INC.	1% 10/NET 11	WELCH'S	70163	200/.5Z	200	\$0.0625	2250	\$12.50	\$28,125.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	4 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY. MOST PO'S MANUFACTURED UPON RECEIPT.	AWARD SAMPLE SENT SAMPLE PASSED
1213	SERVINGS	Mayonnaise, Light or Reduced Calorie, Individual Packets - 9 - 12 gram package. Approximate Pack: 200 servings/case. Ship Lot: 500	Duke's 06346	600,000	Robbins Sales Co, Inc.	N30	Flavor Fresh	78011	200/12gm	200	\$0.0879	3000	\$17.58	\$52,740.00	5,000# Minimum Shipment. Products can be combined with any Dyma Brands Item to meet minimum ship weight. Pallets can be mixed when ordered in layer quantities	3 Weeks	SAMPLE SENT SAMPLE PASSED
1213	SERVINGS	Mayonnaise, Light or Reduced Calorie, Individual Packets - 9 - 12 gram package. Approximate Pack: 200 servings/case. Ship Lot: 500	Duke's 06346	600,000	CHURCHFIELD TRADING	NET 30	CF SAUER	6346	200/12g	200	\$0.10	3000	\$20.50	\$61,500.00	SAMPLE SENT AND SCS IS CURRENTLY USING 3K LB MIN CAN COBINE CF SAUER PRODUCTS	7-14 DAYS	ADD AS AN APPROVED BRAND
1213	SERVINGS	Mayonnaise, Light or Reduced Calorie, Individual Packets - 9 - 12 gram package. Approximate Pack: 200 servings/case. Ship Lot: 500	Duke's 06346	600,000	DYMA BRANDS, INC.	1% 10/NET 11	FLAVOR FRESH	78011	200/12G	200	\$0.0743	3000	\$14.85	\$44,550.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	4 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY. MOST PO'S MANUFACTURED UPON RECEIPT.	AWARD SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1221	SERVINGS	Mustard - Individual packets, 1/5 ounce or 5.5 grams, Approximately packed 200 per case. Serving size = 1 packet. Ship Lot: 500	Portion Pac 0005380 (78000357) French's 0805380 Diamond Crystal 76101 Poco Pac 86165 PPI 72007 Heinz 5380 McCormicks-French's 7078320	1,500,000	Epallet Inc.	Net 30 days	DYMA / Diamond Crystal / Flavor Fresh	72007	5.5 g	200	\$0.04	7500	\$8.00	\$60,000.00	Min. order 2 pallets of DYMA products, can be mixed in even layers. Each layer has 39 cases.	4 weeks	
1221	SERVINGS	Mustard - Individual packets, 1/5 ounce or 5.5 grams, Approximately packed 200 per case. Serving size = 1 packet. Ship Lot: 500	Portion Pac 0005380 (78000357) French's 0805380 Diamond Crystal 76101 Poco Pac 86165 PPI 72007 Heinz 5380 McCormicks-French's 7078320	1,500,000	Robbins Sales Co, Inc.	, N30	Flavor Fresh	72007	200/5.5gm	200	\$0.0353	7500	\$7.06	\$52,950.00	5,000# Minimum Shipment. Products can be combined with any Dyma Brands Item to meet minimum ship weight. Pallets can be mixed when ordered in layer quantities	3 Weeks	
1221	SERVINGS	Mustard - Individual packets, 1/5 ounce or 5.5 grams, Approximately packed 200 per case. Serving size = 1 packet. Ship Lot: 500	Portion Pac 0005380 (78000357) French's 0805380 Diamond Crystal 76101 Poco Pac 86165 PPI 72007 Heinz 5380 McCormicks-French's 7078320	1,500,000	CHURCHFIELD TRADING	NET 30	CF SAUER	6318	200/5.5	200	\$0.07	7500	\$13.30	\$99,750.00	SAMPLE SENT AND SCS IS CURRENTLY USING 3K LB MIN CAN COBINE CF SAUER PRODUCTS	7-14 DAYS	SAMPLE SENT SAMPLE PASSED ADD AS AN APPROVED BRAND
1221	SERVINGS	Mustard - Individual packets, 1/5 ounce or 5.5 grams, Approximately packed 200 per case. Serving size = 1 packet. Ship Lot: 500	Portion Pac 0005380 (78000357) French's 0805380 Diamond Crystal 76101 Poco Pac 86165 PPI 72007 Helnz 5380 McCormicks-French's 7078320	1,500,000	Sysco Memphis, LLC	Net 14 days	Kraft/Heinz	530504	500/1/5oz	500	\$0.03	3000	\$15.70	\$47,100.00		3 weeks	SAMPLE SENT SAMPLE PASSED
1221	SERVINGS	Mustard - Individual packets, 1/5 ounce or 5.5 grams, Approximately packed 200 per case. Serving size = 1 packet. Ship Lot: 500	Portion Pac 0005380 (78000357) French's 0805380 Diamond Crystal 76101 Poco Pac 86165 PPI 72007 Heinz 5380 McCormicks-French's 7078320	1,500,000	DYMA BRANDS, INC.	1% 10/NET 11	FLAVOR FRESH	72007	200/5.5G	200	\$32.0000	7500	\$6.25	\$46,875.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	4 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY. MOST PO'S MANUFACTURED UPON RECEIPT.	AWARD FLAVOR FRESH PPI 72007
1224	SERVINGS	Chill Lime Seasoning - Reduced Sodium - with chili peppers, lime, and sea salt. Individual packets, 1 gram. Approximately 1000 per case. Serving size = 1 packet. Ship Lot: 200	Heinz 540400 Welch's WELC490 Smuckers 5150000767	1,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1225	SERVINGS	Chamoy Hot Sauce - Fruity - Must contain chili peppers, lime, sea salt, and fruit flavor. Must be gluten free and no artificial colors or flavors. Individual packets, .27oz. Approximately 500 per case. Serving size = 1 packet. Ship Lot: 200	Tajin 4810212	1,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
1299	SERVINGS	Hot Sauce - Individual portion control 7 gram packet. Made with hot peppers and vinegar. Approximate Pack: 200/case. Ship Lot: 500	Texas Pete 0003 Louislana 23837 Monarch 273025 Louslanna 7172734	800,000	Robbins Sales Co, Inc.	N30	Poco Pac	86314	200/7gm	200	\$0.0469	4000	\$9.37	\$37,480.00	5,000# Minimum Shipment. Products can be combined with any Dyma Brands item to meet minimum ship weight. Pallets can be mixed when ordered in layer quantities	3 Weeks	SAMPLE SENT SAMPLE FAILED
1299	SERVINGS	Hot Sauce - Individual portion control 7 gram packet. Made with hot peppers and vinegar. Approximate Pack: 200/case. Ship Lot: 500	Texas Pete 0003 Louislana 23837 Louslanna 7172734 Frank's 418540502	800,000	Sysco Memphis, LLC	Net 14 days	McCormick/Franks	418540502	200/7gm	200	\$0.08	4000	\$16.00	\$64,000.00		3 weeks	AWARD
1299	SERVINGS	Hot Sauce - Individual portion control 7 gram packet. Made with hot peppers and vinegar. Approximate Pack: 200/case. Ship Lot: 500	Texas Pete 0003 Louisiana 23837 Monarch 273025 Lousianna 7172734	800,000	DYMA BRANDS, INC.	1% 10/NET 11	POCO PAC	86314	200/7G	200	\$0.0400	4000	\$8.00	\$32,000.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	4 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY: MOST PO'S MANUFACTURED UPON RECEIPT.	SAMPLE SENT SAMPLE FAILED
1303	SERVINGS	Taco Sauce, Mild- Made with tomato sauce, spices, and vinegar. Peppers may be listed as ingredient but not required. 1/3 ounce, 200 packages per case. Ship Lot: 500	Del Pasado 273025 Del Pasado 271876	250,000	Robbins Sales Co, Inc.	N30	Poco Pac	86319	200/9gm	200	\$0.0416	1250	\$8.32	\$10,400.00	5,000# Minimum Shipment. Products can be combined with any Dyma Brands item to meet minimum ship weight. Pallets can be mixed when ordered in layer quantities	3 Weeks	SAMPLE SENT SAMPLE FAILED
1303	SERVINGS	Taco Sauce, Mild- Made with tomato sauce, spices, and vinegar. Peppers may be listed as ingredient but not required. 1/3 ounce, 200 packages per case. Ship Lot: 500	Del Pasado 273025 Del Pasado 271876	250,000	CHURCHFIELD TRADING	NET 30	CF SAUER	6508	200/9G	200	\$0.07	1250	\$13.98	\$17,475.00	SAMPLE SENT AND SCS IS CURRENTLY USING 3K LB MIN CAN COBINE CF SAUER PRODUCTS	14 DAYS	AWARD SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1303	SERVINGS		Del Pasado 273025 Del Pasado 271876	250,000	DYMA BRANDS, INC.	1% 10/NET 11	POCO PAC	86319	200/9G	200	0.0395	1250	\$7.90	\$9,875.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	4 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY, MOST PO'S MANUFACTURED UPON RECEIPT.	SAMPLE SENT SAMPLE FAILED

Stock			Approved Brand (Manufacture Product Code)	Estimated Number of		Bidder	Bidder	Bidder		Estimated	Cost	Required	Cost	Extended		LEAD TIME FROM ORDER	
Number	Unit	Description		Servings (2024-2025)	Bidder	Terms	Brand	Manufacture Product Code	Pack Size	Servings per Case	Per Serving	Number of Cases	Per Case	Total Cost	Comments	(IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1318		Granola Cereal, Whole Grain -1-1.25oz individual single serve packets. Made with rolled oats. Trans fat free. One package to provide a minimum of 1 oz grain equivalent for the child nutrition program. Approximate Pack: 100/case Ship Lot: 400	ES Foods (16195) Rockin'Ola Strawberry 8004094 Rockin'Ola Chocolate 8004100 Rockin'Ola 800420 Bake Crafters 2264 Rockin'Ola 4409068	400,000	Epallet Inc.	Net 30 days	Tarrier / Rockin'Ola	8004094 8004100 8004209	1 oz	250	\$0.36	1600	\$90.00	\$144,000.00	Min. order 1 pallet of Tarrier products, can be mixed in even layers. Each layer has 6 cases.	3 weeks	
1318	SERVINGS	Granola Cereal, Whole Grain - 1-1.25oz individual single serve packets. Made with rolled oats. Trans fat free. One package to provide a minimum of 1 oz grain equivalent for the child nutrition program. Approximate Pack: 100/case Ship Lot: 400	Rockin'Ola Strawberry 8004094	400,000	Sysco Memphis, LLC	Net 14 days	Rockin ola	4094-straw	250/81oz	250	\$0.34	1600	\$84.50	\$135,200.00	cinnamon-#4209-same price	5 weeks - from DOT	
1318	SERVINGS	Granola Cereal, Whole Grain - 1-1.25oz individual single serve packets. Made with rolled oats. Trans fat free. One package to provide a minimum of 1 oz grain equivalent for the child nutrition program. Approximate Pack: 100/case Ship Lot: 400	Rockin'Ola Strawberry 8004094	400,000	Bake Crafters	Net 14 days	Bake Crafters	2264	320/1 oz	320	\$0.3350	1250	\$107.20	\$134,000.00		3 weeks	
1318	SERVINGS	Granola Cereal, Whole Grain - 1-1.25oz individual single serve packets. Made with rolled oats. Trans fat free. One package to provide a minimum of 1 oz grain equivalent for the child nutrition program. Approximate Pack: 100/case Ship Lot: 400	Rockin'Ola Strawberry 8004094	400,000	Bake Crafters	Net 14 days	Bake Crafters	3125	320/1 oz	320	\$0.2701	1250	\$86.44	\$180,050.00		3 weeks	SAMPLE SENT SAMPLE PASSED
1318	SERVINGS	Granola Cereal, Whole Grain - 1-1.25oz individual single serve packets. Made with rolled oats. Trans fat free. One package to provide a minimum of 1 oz grain equivalent for the child nutrition program. Approximate Pack : 100/case Ship Lot: 400	ES Foods (16195) Rockin'Ola Strawberry 8004094 Rockin'Ola Chocolate 8004100 Rockin'Ola 8004209 Bake Crafters 2264 Rockin'Ola 4409068	400,000	Bake Crafters	Net 14 days	Bake Crafters	3127	320/1 oz	320	\$0.2686	1250	\$85.96	\$107,450.00		3 weeks	AWARD SAMPLE SENT SAMPLE PASSED
1387	SERVINGS	Sunflower Kernels, Honey Roasted- 1 oz package, honey roasted kernels to meet 1oz meat/meat alternate for the Child Nutrition Program. Must have less than 230mg sodium per package. Approximate pack size 150 per case. Ship Lot: 200	Zee Zees B88090 Dakota 1017310 Kars 8130 Sunrich Naturals 1231780	200,000	Sysco Memphis, LLC	net 14 days	Sunrich	1231780	150/1.2oz	150	\$0.27	1333	\$40.35	\$53,800.00		4 weeks- from DOT	Cost per serving is 0.269

			Assessed Based														
Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BET THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1387		Sunflower Kernels, Honey Roasted- 1 oz package, honey roasted kernels to meet 1oz meat/meat alternate for the Child Nutrition Program. Must have less than 230mg sodium per package. Approximate pack size 150 per case. Ship Lot: 200	Zee Zees B88090 Dakota 1017310 Kars 8130 Sunrich Naturals 1231780	200,000	National Food Group	Net 30 days	Zee Zees	C88090	250/ 1.2 oz	250	\$0.27	800	\$66.75	\$53,400.00	Our packaging was changed on this item. This resulted in "B" in the item code changing "C". Please order in even pallet qty of 70 cases.	3 weeks	AWARD Cost per serving is 0.267
1388	SERVINGS	Sweet and Sour Sauce - Individual 1 oz. portion cup with peel off top. Sauce to contain pineapple concentrate, mustard, Worcestershire sauce base and spices. Approximate pack: 200 units. Ship Lot: 300	Chatsworth 44944 Ken's KE0740A1 Kraft-Heinz 672124	300,000	Robbins Sales Co, Inc.	N30	Flavor Fresh	77016	100/1oz	100	\$0.1469	3000	\$14.69	\$44,070.00	5,000# Minimum Shipment. Products can be combined with any Dyma Brands item to meet minimum ship weight. Pallets can be mixed when ordered in layer quantities	3 Weeks	SAMPLE SENT SAMPLE PASSED
1388	SERVINGS	Sweet and Sour Sauce - Individual 1 oz. portion cup with peel off top. Sauce to contain pineapple concentrate, mustard, Worcestershire sauce base and spices. Approximate pack: 200 units. Ship Lot: 300	Chatsworth 44944 Ken's KE0740A1 Kraft-Heinz 672124	300,000	CHURCHFIELD TRADING	net 30	cf sauer	6385	100/1oz	100	\$0.20	3000	\$19.54	\$58,620.00	SAMPLE SENT AND SCS IS CURRENTLY USING 3K LB MIN CAN COBINE CF SAUER PRODUCTS	10-14 days	SAMPLE SENT SAMPLE PASSED
1388		Sweet and Sour Sauce - Individual 1 oz. portion cup with peel off top. Sauce to contain pineapple concentrate, mustard, Worcestershire sauce base and spices. Approximate pack: 200 units. Ship Lot: 300	Chatsworth 44944 Ken's KE0740A1 Kraft-Heinz 672124	300,000	Sysco Memphis, LLC	Net 14 days	Kraft/Heinz	672124	100/1oz	100	\$0.17	3000	\$17.00	\$51,000.00		3 weeks	
1388	SERVINGS	Sweet and Sour Sauce - Individual 1 oz. portion cup with peel off top. Sauce to contain pineapple concentrate, mustard, Worcestershire sauce base and spices. Approximate pack: 200 units. Ship Lot: 300	Chatsworth 44944 Ken's KE0740A1 Kraft-Heinz 672124	300,000	DYMA BRANDS, INC.	1% 10/NET 11	FLAVOR FRESH	77016	100/1Z	100	\$0.1275	3000	\$12.75	\$38,250.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	4 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY. MOST PO'S MANUFACTURED UPON RECEIPT.	AWARD SAMPLE SENT SAMPLE PASSED
		Tartar Sauce, Individual Pkg - Individually packaged tartar	Flavor Fresh 76047														
1390	SERVINGS	sauce. Made with dill relish. Tangy, pickled flavor. Ready to use. 9 g package. Approximate pack size: 200 per case. Ship Lot: 200		250,000	Epallet Inc.	Net 30 days	DYMA / Diamond Crystal / Flavor Fresh	76047	9 g	200	\$0.09	1250	\$18.00	\$22,500.00	Min. order 2 pallets of DYMA products, can be mixed in even layers. Each layer has 28 cases.	4 weeks	

			Assessed Broad														
Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1390	SERVINGS	Tartar Sauce, Individual Pkg - Individually packaged tartar sauce. Made with dill relish. Tangy, pickled flavor. Ready to use. 9 g package. Approximate pack size: 200 per case. Ship Lot: 200	Flavor Fresh 76047	250,000	Robbins Sales Co, Inc.	N30	Flavor Fresh	76047	200/9gm	200	\$0.0745	1250	\$14.90	\$18,625.00	5,000# Minimum Shipment. Products can be combined with any Dyma Brands item to meet minimum ship weight. Pallets can be mixed when ordered in layer quantities	3 Weeks	
1390	SERVINGS	Tartar Sauce, Individual Pkg - Individually packaged tartar sauce. Made with dill relish. Tangy, pickled flavor. Ready to use. 9 g package. Approximate pack size: 200 per case. Ship Lot: 200	Flavor Fresh 76047	250,000	CHURCHFIELD TRADING	NET 30	CF SAUER	6509	200/12g	200	\$0.11	1250	\$21.64	\$27,050.00	SAMPLE SENT AND SCS IS CURRENTLY USING 3K LB MIN CAN COBINE CF SAUER PRODUCTS	10-14 days	SAMPLE SENT SAMPLE PASSED
1390	SERVINGS	Tartar Sauce, Individual Pkg - Individually packaged tartar sauce. Made with dill relish. Tangy, pickled flavor. Ready to use. 9 g package. Approximate pack size: 200 per case. Ship Lot: 200	Flavor Fresh 76047	250,000	DYMA BRANDS, INC.	1% 10/NET 11	FLAVOR FRESH	76047	200/9G	200	\$0.0658	1250	\$13.15	\$16,437.50	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	4 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY. MOST PO'S MANUFACTURED UPON RECEIPT.	AWARD
1544		Cereal, Snack Mix Strawberry - Individual bags made from whole grain flour and whole corn. Package size to be a minimum of 1 ounce. Total fat not to exceed 35% of calories. Saturated far must not exceed 10% of total calories. 35% or less sugar by weight. No more than 200 mg sodium. Must provide 1oz grain equivalent for the child nutrition program. Approximately 60 servings per case. Ship Lot: 200	General Mills 31937000	150,000	Sysco Memphis, LLC	Net 14days	GM	31937	60/1.03OZ	60	\$0.42	2500	\$25.34	\$63,345.00		3 WEEKS	AWARD
1564	SERVINGS	Crispy Rice Bar, Ind - Crispy marshmallow squares made from puffed, oven roasted rice cereal. Must meet 1 oz grain equivalent for the child nutrition program. Approximate Pack: 72/case. Ship Lot: 100	Kelloggs 3800011052 Goody Man 9432 Kelloggs 2880189 Super Bakery 9432	200,000	Sysco Memphis, LLC	Net 14days	Kellanova	11052	80/1.41oz	80	\$0.41	2500	\$32.96	\$82,400.00		3 weeks- Drop Ship	AWARD
1567	SERVINGS	Snack Crackers, Vegetable - 1-1.5oz all-natural vegetable flavored wheat snack cracker. To meet a minimum of 1oz grain serving for the child nutrition program. Approximate pack: 108/1.2oz servings per case. Ship Lot: 100	Darlington 76300	200,000	Epallet Inc.	Net 30 days	Darlington Farms / Appleways	76301	1 oz	108	\$0.44	1852	\$47.52	\$88,000.00	Min. order 2 pallets of Darlington products, can be mixed in even layers. Each layer has 6 cases.	4.5 weeks	

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1567	SERVINGS	Snack Crackers, Vegetable - 1-1.5oz all-natural vegetable flavored wheat snack cracker. To meet a minimum of 1oz grain serving for the child nutrition program. Approximate pack: 108/1.2oz servings per case. Ship Lot: 100	Darlington 76300	200,000	CHURCHFIELD TRADING	NET 30	DARLINGTON	76300	108/1.2OZ	108	\$0.27	1852	\$29.48	\$54,600.00	MIN ORDER 432 CS CAN COMBINE WITH 1142 AND 1100 AND 1607 (76301)	14 DAYS	AWARD
1607	SERVINGS	Snack Crackers, Cheddar, WG - Baked cheddar snack crackers. Individual single serve packets equal to a minimum of 0.75 oz by weight and provide a minimum of 1 oz eq of grain per Child Nutrition Program guidelines. Must be made with real cheddar cheese. CN label or crediting statement required. Approximate pack: 175 per case Ship Lot: 300	Kellogg's 79263 Pepsico 13136 Darlington Farms 76100	600,000	Epailet Inc.	Net 30 days	Darlington Farms / Appleways	76100	0.9 oz	108	\$0.44	5556	\$47.52	\$264,000.00	Min. order 2 pallets of Darlington products, can be mixed in even layers. Each layer has 6 cases.	4.5 weeks	
1607	SERVINGS	Snack Crackers, Cheddar, WG - Baked cheddar snack crackers. Individual single serve packets equal to a minimum of 0.75 oz by weight and provide a minimum of 1 oz eq of grain per Child Nutrition Program guidelines. Must be made with real cheddar chese. CN label or crediting statement required. Approximate pack: 175 per case Ship Lot: 300	Kellogg's 79263 Pepsico 13136 Darlington Farms 76100	600,000	CHURCHFIELD TRADING	NET'30	DARLINGTON	76100	108/0.9OZ	108	\$0.27	5556	\$29.48	\$163,800.00	MIN ORDER 432 CS CAN COMBINE WITH 1142 AND 1100 AND 1567	14 DAYS	
1607	SERVINGS	Snack Crackers, Cheddar, WG - Baked cheddar snack crackers. Individual single serve packets equal to a minimum of 0.75 oz by weight and provide a minimum of 1 oz eq of grain per Child Nutrition Program guidelines. Must be made with real cheddar cheese. CN label or crediting statement required. Approximate pack: 175 per case	Kellogg's 79263 Pepsico 13136 Darlington Farms 76100	600,000	Sysco Memphis, LLC	Net 14days	Kellanova	79263	175/.75oz	175	\$0.20	3429	\$34.83	\$119,400.00		3 weeks- Drop Ship	AWARD
		Ship Lot: 300															

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1649	SERVINGS	Jam, Strawberry- Individual 1/2 oz. easy open pouch. Made with real strawberries. Approximate case pack 200 units. Ship Lot: 400	Heinz 540404 Welch's WELC490 Smuckers 5150000767	300,000	Robbins Sales Co, Inc.	N30	Welch's	70153	200/0.5oz	200	\$0.1011	1500	\$20.22	\$30,330.00	5,000# Minimum Shipment. Products can be combined with any Dyma Brands Item to meet minimum ship weight. Pallets can be mixed when ordered in layer quantities	3 Weeks	SAMPLE SENT SAMPLE PASSED
1649	SERVINGS	Jam, Strawberry- Individual 1/2 oz. easy open pouch. Made with real strawberries. Approximate case pack 200 units. Ship Lot: 400	Heinz 540404 Welch's WELC490 Smuckers 5150000767	300,000	CHURCHFIELD TRADING	NET 30	CF SAUER	6861	200/.5oz	200	\$0.12	1500	\$24.21	\$36,315.00	SAMPLE SENT AND SCS IS CURRENTLY USING 3K LB MIN CAN COBINE CF SAUER PRODUCTS	14 days	SAMPLE SENT SAMPLE PASSED
1649	SERVINGS	Jam, Strawberry- Individual 1/2 oz easy open pouch. Made with real strawberries. Approximate case pack 200 units. Ship Lot: 400	Heinz 540404 Welch's WELC490 Smuckers 5150000767	300,000	Sysco Memphis, LLC	Net 14 days	Heinz	540404	200/.5oz	200	\$0.08	1500	\$16.40	\$24,600.00		3 weeks	AWARD
1649	SERVINGS	Jam, Strawberry- Individual 1/2 oz. easy open pouch. Made with real strawberries. Approximate case pack 200 units. Ship Lot: 400	Heinz 540404 Welch's WELC490 Smuckers 5150000767	300,000	DYMA BRANDS, INC.	1% 10/NET 11	WELCH'S	70153	200/.5Z	200	\$0.0880	1500	\$17.60	\$26,400.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	4 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY, MOST PO'S MANUFACTURED UPON RECEIPT.	SAMPLE SENT SAMPLE PASSED
1650	SERVINGS	Dressing, Honey Mustard, Pkg Honey mustard packet of dressing with a sweet savory honey mustard flavor. Packet size should be 1.5 ozs. Easy tear pouches. Packed approximately 60 - 100 packets per case. If packed differently, please indicate. Ship Lot: 200	Marzetti 81996 Steak House KE 0634A1 Ken's KE1027B3 Ventura 13357	200,000	Robbins Sales Co, Inc.	N30	Flavor Fresh	77023	60/1.5oz	60	\$0.2965	3333	\$17.79	\$59,300.00	5,000# Minimum Shipment. Products can be combined with any Dyma Brands Item to meet minimum ship weight. Pallets can be mixed when ordered in layer quantities	3 Weeks	SAMPLE SENT SAMPLE PASSED
1650	SERVINGS	Dressing, Honey Mustard, Pkg Honey mustard packet of dressing with a sweet savory honey mustard flavor. Packet size should be 1.5 ozs. Easy tear pouches. Packed approximately 60 - 100 packets per case. If packed differently, please indicate. Ship Lot: 200	Marzetti 81996 Steak House KE 0634A1 Ken's KE1027B3 Ventura 13357	200,000	CHURCHFIELD TRADING	NET 30	CF SAUER	8409	60/1.5oz	60	\$0.43	3333	\$25.71	\$85,700.00	SAMPLE SENT AND SCS IS CURRENTLY USING 3K LB MIN CAN COBINE CF SAUER PRODUCTS	14 days	
1650	SERVINGS	Dressing, Honey Mustard, Pkg Honey mustard packet of dressing with a sweet savory honey mustard flavor. Packet size should be 1.5 ozs. Easy tear pouches. Packed approximately 60 - 100 packets per case. If packed differently, please indicate. Ship Lot: 200	Marzetti 81996 Steak House KE 0634A1 Ken's KE1027B3 Ventura 13357	200,000	Sysco Memphis, LLC	Net 14days	Kens	KE0634A1	100/1oz	100	\$0.23	2000	\$23.40	\$46,800.00	ke0634a1- is cups not packerts	4 weeks	AWARD

			Approved Brand														
Stock Number	Unit	Description	(Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1650	SERVINGS	Dressing, Honey Mustard, Pkg Honey mustard packet of dressing with a sweet savory honey mustard flavor. Packet size should be 1.5 ozs. Easy tear pouches. Packed approximately 60 100 packets per case. If packed differently, please indicate. Ship Lot: 200	Marzetti 81996 Steak House KE 0634A1 - Kon's KE1027B3 Ventura 13357	200,000	DYMA BRANDS, INC.	1% 10/NET 11	FLAVOR FRESH	77023	60/1.5Z	60	\$0.2542	3333	\$15.25	\$50,833.33	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	4 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY. MOST PO'S MANUFACTURED UPON RECEIPT.	SAMPLE SENT SAMPLE PASSED
1650	SERVINGS	Dressing, Honey Mustard, Pkg Honey mustard packet of dressing with a sweet savory honey mustard flavor. Packet size should be 1.5 cos. Easy tear pouches. Packed approximately 60 · 100 packets per case. If packed differently, please indicate. Ship Lot: 200	Marzetti 81996 Steak House KE 0634A1 Ken's KE1027B3 Ventura 13357	200,000	Marzetti	2/10 Net 30	Marzetti	81996	1.5	60	\$0.2397	3333	\$14.38	\$47,933.33	Available thru DOT	5 Business Days	
1653	SERVINGS	Sauce, Honey Mustard. Dipping sauce in individual cups with peel off lid, approximate size 1.0 oz-1.5 oz. Approximate pack 100 units /case. Ship Lot: 500	DYMA 75305 Nature's Fresh 8518387 Ventura 15247 Grande Gourmet 28005 Taste Pleasers 00716037089450 Marzetti 82828 Winland Foods 851168	650,000	Epallet Inc.	Net 30 days	DYMA / Diamond Crystal / Flavor Fresh	77007	1 oz	100	\$0.22	6500	\$22.00	\$143,000.00	Min. order 2 pallets of DYMA products, can be mixed in even layers. Each layer has 17 cases.	4 weeks	
1653	SERVINGS	Sauce, Honey Mustard, Dipping sauce in individual cups with peel off lid, approximate size 1.0 oz-1.5 oz. Approximate pack 100 units /case. Ship Lot: 500	DYMA 75305 Nature's Fresh 8518387 Ventura 15247 Grande Gourmet 28005 Taste Pleasers 00716037089450 Marzetti 82828 Winland Foods 851168	650,000	Robbins Sales Co, Inc.	N30	Dyma	75305	100/1oz	100	\$0.1785	6500	\$17.85	\$116,025.00	5,000# Minimum Shipment. Products can be combined with any Dyma Brands Item to meet minimum ship weight. Pallets can be mixed when ordered in layer quantities	3 Weeks	
1653	SERVINGS	Sauce, Honey Mustard, Dipping sauce in individual cups with peel off lid, approximate size 1.0 oz-1.5 oz. Approximate pack 100 units /case. Ship Lot: 500	DYMA 75305 Nature's Fresh 8518387 Ventura 15247 Grande Gourmet 28005 Taste Pleasers 00716037089450 Marzetti 82828 Winland Foods 851168	650,000	CHURCHFIELD TRADING	NET 30	CF SAUER	6370	100/1oz	100	\$0.26	6500	\$26.19	\$170,235.00	SAMPLE SENT AND SCS IS CURRENTLY USING 3K LB MIN CAN COBINE OF SAUER PRODUCTS	14 days	SAMPLE SENT SAMPLE PASSED
1653	SERVINGS	Sauce, Honey Mustard, Dipping sauce in individual cups with peel off lid, approximate size 1.0 oz-1.5 oz. Approximate pack 100 units /case. Ship Lot: 500	DYMA 75305 Nature's Fresh 8518387 Ventura 15247 Grande Gourmet 28005 Taste Pleasers 00716037089450 Marzetti 82828	650,000	DYMA BRANDS, INC.	1% 10/NET 11	DISNEY FLAVOR FRESH	75305 77007	100/1Z	100	\$0.1510	6500	\$15.10	\$98,150.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	4 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY. MOST PO'S MANUFACTURED UPON RECEIPT.	AWARD

Stock	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings	Bidder	Bidder	Bidder	Bidder Manufacture	Pack Size	Estimated Servings per	Cost Per	Required Number of	Cost Per	Extended Total	Comments	LEAD TIME FROM ORDER	AWARDS
Number	Oille	Description		(2024-2025)	Biddei	Terms	Brand	Product Code	Pack Size	Case	Serving	Cases	Case	Cost	Comments	(IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1653	SERVINGS	Sauce, Honey Mustard, Dipping sauce in individual cups with peel off lid, approximate size 1,0 oz-1,5 oz. Approximate pack 100 units /case. Ship Lot: 500	DYMA 75305 Nature's Fresh 8518387 Ventura 15247 Grande Gourmet 28005 Taste Pleasers 00716037089450 Marzetti 82828	650,000	Marzetti	2/10 Net 30	Marzetti	82828	1	120	\$0.1622	5417	\$19.46	\$105,408.33	Available thru DOT	5 Business Days	
		Sauce, Barbecue, Dipping - Individual cups with peel off lid,	DYMA 70809														
1654	SERVINGS	approximate size 1.0 oz-1.5 oz. Approximate pack 100 units/case.	Ken's SJ0440A1 Ken's KE0784A1 Marzetti 83549	550,000	Epallet Inc.	Net 30 days	DYMA / Diamond Crystal / Flavor Fresh	77002	1 oz	100	\$0.24	5500	\$24.00	\$132,000.00	Min. order 2 pallets of DYMA products, can be mixed in even layers. Each layer has 17 cases.	4 weeks	
		Ship Lot: 400													Lacifiayer nas 17 cases.		
1654	SERVINGS	Sauce, Barbecue, Dipping - Individual cups with peel off lid, approximate size 1.0 oz-1.5 oz. Approximate pack 100 units/case. Ship Lot: 400	DYMA 70809 Ken's \$5,0440A1 Ken's KE0784A1 Marzetti 83549	550,000	Robbins Sales Co, Inc.	N30	Flavor Fresh	77002	100/1oz	100	\$0.1637	5500	\$16.37	\$90,035.00	5,000# Minimum Shipment. Products can be combined with any Dyma Brands item to meet minimum ship weight. Pallets can be mixed when ordered in layer quantities	3 Weeks	
1654	SERVINGS	Sauce, Barbecue, Dipping - Individual cups with peel off lid, approximate size 1.0 oz-1.5 oz. Approximate pack 100 units/case. Ship Lot: 400	DYMA 70809 Ken'sS,10440A1 Ken's KE0784A1 Marzetti 83549	550,000	CHURCHFIELD TRADING	NET 30	CF SAUER	6368	100/1OZ	100	\$0.20	5500	\$19.68	\$108,240.00	SAMPLE SENT AND SCS IS CURRENTLY USING 3K LB MIN CAN COBINE CF SAUER PRODUCTS	14 DAYS	SAMPLE SENT SAMPLE PASSED
1654	SERVINGS	Sauce, Barbecue, Dipping - Individual cups with peel off lid, approximate size 1.0 oz-1.5 oz. Approximate pack 100 units/case. Ship Lot: 400	DYMA 70809 Ken's \$3,0440A1 Ken's KE0784A1 Marzetti 83549	550,000	Sysco Memphis, LLC	Net 14days	Kens	SJ0440A1	100/1.25oz	100	\$0.22	5500	\$22.30	\$122,650.00		4 weeks	
1654	SERVINGS	Sauce, Barbecue, Dipping - Individual cups with peel off lid, approximate size 1.0 oz-1.5 oz. Approximate pack 100 units/case. Ship Lot: 400	DYMA 70809 Ken's \$2,0440A1 Ken's KE078AA1 Marzetti 83549	550,000	Red Gold	Net 30	Red Gold	REDOA1Z	250 / 1 oz cups	250	\$0.14	2200	\$35.18	\$77,396.00	Pricing provided is for full truckload (26 pallets/45,000 lbs). Awarded products must ship in full pallet quantity, truck can be a mix of awarded products.	2 weeks	AWARD
1654	SERVINGS	Sauce, Barbecue, Dipping - Individual cups with peel off lid, approximate size 1.0 oz-1.5 oz. Approximate pack 100 units/case. Ship Lot: 400	DYMA 70809 Ken'SSJ0440A1 Ken's KE0784A1 Marzetti 83549	550,000	DYMA BRANDS, INC.	1% 10/NET 11	FLAVOR FRESH	77002	100/1Z	100	\$0.1410	5500	\$14.10	\$77,550.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	4 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY. MOST PO'S MANUFACTURED UPON RECEIPT.	

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1654	SERVINGS	Sauce, Barbecue, Dipping - Individual cups with peel off lid, approximate size 1.0 oz-1.5 oz. Approximate pack 100 units/case. Ship Lot: 400	DYMA 70809 Ken's SJ0440A1 Ken's KE078AA1 Marzetti 83549	550,000	Marzetti	2/10 Net 30	Marzetti	83549	1	120	\$0.1416	4583	\$16.99	\$77,870.83	Available thru DOT	5 Business Days	
1698		Fruit Stush Pouch, Tropical Fruit, Frozen-Each serving to mee ½ cup eq of fruit per USDA child nutrition program guidelines. Must be made with 100% fruit juice and no added sugars. Intended to be eaten partially frozen at a situs consistency and should include a variety of flavors. Crediting statement or CN label required. Approximately packed 60 per case. If packed differently, please indicate. Ship Lot: 300	Cool Tropics 14505	300,000	Cool Tropics		Welch's by Cool Tropics	14505	4 oz.	60	\$0.37	5000	\$22.15	\$110,730.00	28 pallets (2,240 cases) @ \$22.15 per case. 14 pallets minimum (1,120 cases) @ \$22.75. See price list enclosed for more details.	21 days excluding weekday holidays	AWARD
1699		Fruit Slush Pouch, Mango Peach, Frozen-Each serving to meet ½ cup eq of fruit per USDA child nutrition program guidelines. Must be made with 100% fruit juice and no added sugars. Intended to be eaten partially frozen at a slush consistency and should include a variety of flavors. Crediting statement or CN label required. Approximately packed 60 per case. If packed differently, please indicate. Ship Lot: 300	Cool Tropics 14506	300,000	Cool Tropics		Welch's by Cool Tropics	14506	4 oz.	60	\$0.37	5000	\$22.15	\$110,730.00	28 pallets (2,240 cases) @ \$22.15 per case. 14 pallets minimum (1,120 cases) @ \$22.75. See price list enclosed for more details.	21 days excluding weekday holidays	AWARD
1700	SERVINGS	Fruit Slush Pouch, Blue Raspberry, Frozen-Each serving to meet ½ cup eq of fruit per USDA child nutrition program guidelines. Must be made with 100% fruit juice and no added sugars. Intended to be eaten partially frozen at a slush consistency and should include a variety of flavors. Crediting statement or CN labet required. Approximately packed 60 per case. If packed differently, please indicate. Ship Lot: 300	Cool Tropics 16002 (Berry Berry Blue)	300,000	Cool Tropics		Cool Tropics	16002	4 oz.	60	\$0.36	5000	\$21.35	\$106,740.00	28 pallets (2,240 cases) @ 21.35 per case. 14 pallets (1,120 cases) @ \$21.95 per case. See price list enclosed for more details.	21 days excluding weekday holidays	AWARD
1716	SERVINGS	Raisins-Flavored, Fruit. Watermelon. Watermelon flavored raisins made from golden raisins. Must meet at least 1/2 c fruit for the Child Nutrition Program. Approximate Pack: 200/1.66 oz packs per case. Ship Lot: 300	Raisels 100-70044-15844-6 Sunmaid 0405987000	100,000	CHURCHFIELD TRADING	NET 30	SUN MAID	405987000	200/1.33OZ	200	\$0.35	500	\$70.33	\$35,165.00	MIN 313 CS CAN COMBINE 1717	14 DAYS	

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1716	SERVINGS	Raisins- Flavored, Fruit. Watermelon. Watermelon flavored raisins made from golden raisins. Must meet at least 1/2 c fruit for the Child Nutrition Program. Approximate Pack: 200/1.66 oz packs per case. Ship Lot: 300	Raisels 100-70044-15844-6 Sunmaid 0405987000	100,000	SUN-MAID GROWERS	2 10 30	SUN-MAID	405987000	1.33oz	200	\$0.35	500	\$69.64	\$34,820.00		2	AWARD
1717	SERVINGS	Raisin-Flavored, Fruit. Fruit Splash. Tropical Fruit flavored raisins made from golden raisins. Must meet at least 1/2 c fruit for the Child Nutrition Program. Approximate Pack:200/1.66 oz packs per case. Ship Lot: 300	Sunmaid 41143-05982 Raisels 100-70044-15855-2	100,000	CHURCHFIELD TRADING	NET 30	SUN MAID	405982000	200/1.33OZ	200	\$0.35	500	\$70.33	\$35,165.00	MIN 313 CS CAN COMBINE WITH 1716	14 DAYS	
1717	SERVINGS	Raisin-Flavored, Fruit. Fruit Splash. Tropical Fruit flavored raisins made from golden raisins. Must meet at least 1/2 c fruit for the Child Nutrition Program. Approximate Pack:200/1.66 oz packs per case. Ship Lot: 300	Sunmaid 41143-05982 Raisels 100-70044-15855-2	100,000	SUN-MAID GROWERS	2 10 30	SUN-MAID	405982000	1.33oz	200	\$0.35	500	\$69.64	\$34,820.00		2	AWARD
1781		No Nut Butter Spread, Chocolate - 1 oz, PC cup. Cocoalchocolate flavored vegetarian nut-free spread. Must meet 1 oz. meat/meat alternate for the child Nutrition Program. Approximate pack size 72/case. If packed differently, please indicate. Ship Lot: 300	ZeeZees 617574 JNS 1016	200,000	JNS FOODS	Net 30	"Sneaky Chef" by JNS	1016	220 / 1oz	220	\$0.41	909	\$90.77	\$82,520.00	144 cs. Min	3 Weeks	AWARD
1781	SERVINGS	No Nut Butter Spread, Chocolate - 1 oz, PC cup. Cocoa/chocolate flavored vegetarian nut-free spread. Must meet 1 oz. meat/meat alternate for the child Nutrition Program. Approximate pack size 72/case. If packed differently, please indicate. Ship Lot: 300	ZeeZees 617574 JNS 1016	200,000	National Food Group	Net 30 days	Zee Zees	623281	200/ 1 oz	200	\$0.45	1000	\$89.79	\$89,790.00	Please order in even pallet quantities 75 cases. Food show tested and approved.	3 weeks	
1789	SERVINGS	Syrup, Table - Sugar-Free. Maple flavored syrup for pancakes or waffles. In a 1.0 ounce individual portion cup with peel off top. Approximate pack: 100 units/case. Ship Lot: 500	Sauer's 06384	850,000	Robbins Sales Co, Inc.	N30	Flavor Fresh	75993	100/1oz	100	\$0.1416	8500	\$14.16	\$120,360.00	5,000# Minimum Shipment. Products can be combined with any Dyma Brands item to meet minimum ship weight. Pallets can be mixed when ordered in layer quantities	3 Weeks	ADD AS APPROVED BRND
1789	SERVINGS	Syrup, Table - Sugar-Free. Maple flavored syrup for pancakes or waffles. In a 1.0 ounce individual portion cup with peel off top. Approximate pack: 100 units/case. Ship Lot: 500	Sauer's 06384	850,000	CHURCHFIELD TRADING	NET 30	cf sauer	6384	100/1OZ	1000	\$0.25	850	\$245.00	\$208,250.00	SAMPLE SENT AND SCS IS CURRENTLY USING 3K LB MIN CAN COBINE CF SAUER PRODUCTS	14 DAYS	

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1789	SERVINGS	Syrup, Table - Sugar-Free. Maple flavored syrup for pancakes or waffles. In a 1.0 ounce individual portion cup with peel off top. Approximate pack: 100 units/case. Ship Lot: 500	Sauer's 06384	850,000	DYMA BRANDS, INC.	1% 10/NET 11	FLAVOR FRESH	75993	100/1Z	100	\$0.1185	8500	\$11.85	\$100,725.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	4 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY, MOST PO'S MANUFACTURED UPON RECEIPT.	AWARD
1825	SERVINGS	juice. Cup to contain pineapple and papaya and other fruits. Each	Dole - 3048 ZeeZees - 616671 ZeeZees - 608770C	300,000	Sysco Memphis, LLC	Net 14 days	Dole	3048	36/4oz	36	\$0.46	8333	\$16.63	\$138,600.00		3 weeks	AWARD
1825	SERVINGS	juice. Cup to contain pineapple and papaya and other fruits. Each	Dole - 3048 ZeeZees - 615671 ZeeZees - 608770C	300,000	National Food Group	Net 30 days	Zee Zees	608770	72 / 4.5 oz	72	\$0.61	4167	\$43.80	\$182,500.00	Please order in 80 case even pallet qty.	3 weeks	
1858	SERVINGS	Crackers, Honey Graham - Made with whole grain wheat graham flour. Three perforated cracker squares per package. No character shapes. Must meet 1 oz. grain eq. for the Child Nutrition program. Please provide crediting. Approximate Pack: 150/case Ship Lot: 300	Kelloggs 91822	300,000	Sysco Memphis, LLC	Net 14days	Kellanova	91822	150/3ct	150	\$0.22	2000	\$32.85	\$65,700.00		3 weeks	AWARD
1872	SERVINGS	Almond Milk, Vanilla Flavored- Shelf stable 8 oz, vanilla flavored. Free of dairy, soy, lactose, gluten, casein, egg, and MSG. 8 oz. single serve containers. Case pack 18 servings, indicate if packed differently. Ship Lot: 100	Silk 136461	80,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
1874	SERVINGS	Milk, Soy, Vanilla Flavored 8 oz- Shelf stable soy based milk. To contain all nutrients to qualify as reimbursable through the USDA Child Nutrition program as fluid milk. Ship Lot: 200	Kikkoman Pearl 06184 Silk 136466	100,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1876	SERVINGS	Milk, Soy, Chocolate Flavored 8 oz- Shelf stable soy based milk. To contain all nutrients to qualify as reimbursable through the USDA Child Nutrition program as fluid milk. Ship Lot: 200	Silk 0177321	100,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
1930	SERVINGS	Plant Protein Crumble- Plant based crumble. Seasoned with southwest spices. Must be vegan and shelf stable. Must meet 1 oz. meat/meat alternate. Case pack 96 servings, indicate if packed differently.	Basic American- 11084	150,000	Robbins Sales Co, Inc.	N30	Basic American	11084	4/13.65oz	96	\$0.4258	1563	\$40.88	\$63,870.00		3 Weeks	
1930	SERVINGS	southwest spices. Must be vegan and shelf stable. Must meet 1 oz. meat/meat alternate. Case pack 96 servings, indicate if packed differently.	Basic American- 11084	150,000	CHURCHFIELD TRADING	NET 30	BASIC AMERICAN	11084	4 / 13.65OZ	96	\$0.51	1563	\$48.96	\$76,500.00			
1930	SERVINGS	Plant Protein Crumble- Plant based crumble. Seasoned with southwest spices. Must be vegan and shelf stable. Must meet 1 oz. meat/meat alternate. Case pack 96 servings, indicate if packed differently. Ship Lot: 300	Basic American- 11084	150,000	Sysco Memphis, LLC	Net 14 days	Basic American	11084	4/13.65oz	96	\$0.40	1563	\$38.40	\$60,000.00	2oz	4 weerks	AWARD
2315	SERVINGS		Palmetto Gourmet Foods - 810037811933	200,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
2329	SERVINGS	Parmesan Packets - Dry parmesan cheese powder, pasteurized part-skim milk. Case pack 200 servings. Please indicate if packed differently. Ship Lot: 300	No Approved Brands	900,000	Robbins Sales Co, Inc.	N30	Single Serve	58725	200/3.5gm	200	\$0.0643	4500	\$12.85	\$57,825.00	5,000# Minimum Shipment. Products can be combined with any Dyna Brands item t meet minimum ship weight. Pallets can be mixed when ordered in layer quantities		SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
2329	SERVINGS	Parmesan Packets - Dry parmesan cheese powder, pasteurized part-skim milk. Case pack 200 servings. Please indicate if packed differently. Ship Lot: 300	No Approved Brands	900,000	DYMA BRANDS, INC.	1% 10/NET 11	SINGLE SERV	58725	200/3.5G	200	\$0.0560	4500	\$11.20	\$50,400.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	4 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY, MOST PO'S MANUFACTURED UPON RECEIPT.	AWARD SAMPLE SENT SAMPLE PASSED
2330	SERVINGS	Soy Sauce, Individual Packets - Low sodium soy sauce packets. Case pack 500 servings. Please indicate if packed differently. Ship Lot: 300	No Approved Brands	500,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
2335	SERVINGS		Zee Zees/ National Food Group A3610	250,000	National Food Group	Net 30 days	Zee Zees	A3610	96/ 4.5 oz	96	\$0.30	2604	\$29.15	\$75,911.46	Please order in 56 case even pallet qty.	3 weeks	AWARD
2337	SERVINGS	Graham Crackers, Mini Squares - Mini Graham Crackers made with whole grain wheat graham flour. Contains real honey with no fructose corn syrup. Must meet 1 oz. grain equivalent per Child Nutrition program. Please provde crediting. Approximately packed 72 per case. If packed differently, please indicate. Ship Lot: 300	Mondelez 1932000166	200,000	Sysco Memphis, LLC	Net 14days	Mondelez	1932000156	72/1oz	72	\$0.30	2778	\$21.31	\$59,200.00		4 WEEKS	AWARD

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidders Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is	Column 4 PACK SIZES FOR THE FOLLOWING	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1111		jar is securely sealed to prevent leakage	Bay Valley 127/12822891393 Cajun Chef Heinz 5218904	1,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
		Ship Lot: 200 Cases															
		Gravy Mix - Brown Gravy Mix, Dry - Dry powder mix to add water to reconstitute. Seasonings added with no MSG. Contains no trans fat. May be in a resealable jar/jug	Chef's Companion 57774														
1181	CASE	or in single use packets. Please indicate packaging. Ship Lot: 300 Cases		1,300	Robbins Sales Co, Inc.	N30	Chef's Companion	57774	8/14oz	512	\$0.05	1,300	\$24.22	\$31,486.00	5,000# Minimum Shipment. Products can be combined with any Dyma Brands item to meet minimum ship weight. Pallets can be mixed when	3 Weeks	
		Gravy Mix - Brown Gravy Mix, Dry - Dry powder mix to add water to reconstitute. Seasonings added with no MSG. Contains	Chef's Companion 57774												ordered in layer quantities		
1181		no trans fat. May be in a resealable jar/jug or in single use packets. Please indicate packaging.		1,300	SYSCO MEMPHIS LLC	NET 14 DAYS	NESTLE-TRIO	382733	8/13.5oz	600	\$0.06	1,300	\$37.02	\$48,126.00		4 WEEKS	SAMPLE SUBMITTED SAMPLE PASSED
		Ship Lot: 300 Cases															- A0025
1181		Gravy Mix - Brown Gravy Mix, Dry - Dry powder mix to add water to reconstitute. Seasonings added with no MSG. Contains no trans fat. May be in a resealable jar/jug or in single use packets. Please indicate packaging.	Chef's Companion 57774	1,300	DYMA BRANDS, INC.	1% 10/NET 11	CHEF'S COMPANION	57774	8/14Z	512	\$0.0430	1,300	\$22.00	\$28,600.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN	3 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY. MOST PO'S MANUFACTURED	AWARD
		Ship Lot: 300 Cases													ORDERED IN LAYER QUANTITIES.	UPON RECEIPT.	
1199			Cajun Chef 12205 T Marzetti 88123 Frank's 74161	800	Sysco Memphis, LLC	Net 14 days	McCormick- Franks	74161	4/1gal	252	\$0.24	800	\$59.22	\$47,376.00	3 WEEKS	4 weeks	
		Ship Lot: 200 Cases															

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidders Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1		Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1199	CASE		Cajun Chef 12205 T Marzetti 88123 Frank's 74161	800	Marzetti	2/10 Net 30	Marzetti	88123	2	256	0.1230/ounce	800	\$31.49	\$25,192.00			AWARD
1207	CASE	Teriyaki Glaze – Lower sodium Teriyaki Glaze made with soy sauce, sugar, and additional Asian flavorings. Pre thickened, ready to use. Resealable cap. Ship Lot: 200 Cases	Kikkoman 01657	1,000	SYSCO MEMPHIS LLC	Net 14 days	Kikkoman	1657	6/5.3#	63	\$0.79	1,000	\$49.71	\$49,707.00		4 WEEKS	AWARD
1211	CASE	Should contain no more than 30% of calories from fat, no trans fat. 1 gallon jar with a resealable cap.	Duke's 06073 Ventura 72040 American Harvest 155 Monarch 192134 Sysco 4002432	800	CHURCHFIELD TRADING	NET 30	CF SAUER/DUKES	6073	4/1 GAL	1024	\$0.05	800	\$55.09	\$44,072.96	SAMPLE SENT AND SCS IS CURRENTLY USING 3K LB MIN CAN COBINE CF SAUER PRODUCTS	14 DAYS	AWARD
1212	CASE	Sesame Dressing - Asian flavored sesame vinegarette dressing. Contains pineapple juice, sesame seeds, soy sauce and spices. Packed 4/1 gallon resealable jars per case. If packed differently, please indicate. Ship Lot: 200 Cases	Marzetti 41464	400	Marzetti	2/10 Net 30	Marzetti	41464	4	512	\$.1219/ounce	400	\$62.45	\$24,980.00		5 Business Days	AWARD
1260	CASE	Potatoes, Instant White - Made with 100% russet potatoes. No whey, product complete with non-fat milk and butter flavoring, requires only the addition of water and no whipping. Enriched with 50% vitamin C. Approximate Pack: 12-26oz packages per case. Servng Size = 1/2 cup	Basic American Foods 76468 Idaho Pacific Corp. 910	2,000	Robbins Sales Co, Inc.	N30	Basic American Foods	76468 36 of 56	12/28oz	504	\$0.13	2,000	\$63.38	\$126,760.00	n/a	3 Weeks	

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidders Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1260	CASE		Basic American Foods 76468 Idaho Pacific Corp. 910	2,000	CHURCHFIELD TRADING	NET 30	BASIC AMERICAN	76468	12/28OZ	408	\$0.16	2,000	\$65.07	\$130,135.68		14 DAYS	
1260	CASE		Basic American Foods 76468 Idaho Pacific Corp. 910	2,000	SYSCO MEMPHIS LLC	NET 14 DAYS	IDAHOAN	25313	12/25.2oz	452.7	\$0.13	2,000	\$57.67	\$115,340.00		4 weeks - from DOT	AWARD SAMPLE SENT SAMPLE PASSED
1276	CASE	frying, baking and salads. Should be trans fat free (0 grams trans fat), no BHT	Chef's Pride 54107 GFS/Cargill 61488 Harvest Value 291524 Wesson 2700061234	400	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
1288	CASE	Sauce, Honey Gold - A blend of spices with tangy mustard flavor. Golden brown in color. Suitable to be used as a wing sauce or dipping sauce. Approximate Pack: 4/1-Gallon/Case Ship Lot: 200 Cases		1,000	Sysco Memphis, LLC	Net 14days	Kens	SJ2346HF	4/1 gal	256	\$0.25	1,000	\$62.72	\$62,720.00		3369473 is SYSCO CODE1 tbsp per serving	AWARD
1331	CASE	Soup, Cream of Chicken A condensed soup with not more than 530 mg, Sodium per 8 oz. serving. Made with real cream. No MSG. Approximate Pack: 12/50 oz. cans Ship Lot: 25	Campbell's Healthy Request 5100004143	300	Sysco Memphis, LLC	Net 14days	campbells	4143 87 of 56	12/50oz	132	\$0.46	300	\$60.32	\$18,096.00		1/2 CUP serving	AWARD

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidders Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
		Soasoning Gardon Pland Soasoning	Badia 40554														
1333		Seasoning, Garden Blend - Seasoning with a blend of spices and herb with a strong garlic and onion flavor profile. With dehydrated vegetables: carrots, tomatoes, and bell peppers. Sall free. No MSG added. Approximate Pack: 6 containers per case.	Badia 40554	400	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
		Ship Lot: 200 Cases															
1335	EACH	Dry Ranch Seasoning - Must contain a blend of parsley, dill, chives, garlic, onion, salt, and pepper. Approximate pack size: 18-3.2 oz. containers per case. Please indicate if packed differently. Ship Lot: 200 Cases	Bay Valley 4917391	450	Robbins Sales Co, Inc.	N30	Chef's Companion	57075	18/3oz	2304	\$0.01	450	\$15.79	\$7,105.50	5,000# Minimum Shipment. Products can be combined with any Dyma Brands item to meet minimum ship weight. Pallets can be mixed when ordered in layer quantities	3 Weeks	
1335	EACH	Dry Ranch Seasoning - Must contain a blend of parsley, dill, chives, garlic, onion, salt, and pepper. Approximate pack size: 18-3.2 oz. containers per case. Please indicate if packed differently. Ship Lot: 200 Cases	Bay Valley 4917391	450	DYMA BRANDS, INC.	1% 10/NET 11	CHEF'S COMPANION	57075	18/3.2Z	2304	\$0.0063	450	\$14.50	\$6,525.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	3 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY, MOST PO'S MANUFACTURED UPON RECEIPT.	AWARD
		Onion Flakes, Dehydrated - Chopped,	Badia 00536														
1343	CASE	Fancy, Approximate pack - Approximate Pack: 6 containers per case. Please indicate if packed differently. Ship Lot: 100 Cases		600	Epallet Inc.	Net 30 days	Badia Spices	00535	1.25 lb.	6	\$5.36	100	\$32.16	\$3,216.00	Min. order 1 pallet of Badia Spices, can be mixed in even layers. Each layer has 28 cases.	3 weeks	PACKET DEEMED NONRESPONSIV E. SUBMITTED AFTER DATE SUBMISSION DEADLINE
1346	CASE	made from pure dehydrated garlic. Approximate Pack: 6 containers per case. Please indicate if packed differently.	McCormick 900223226 Rodelle 15123 Sauer 01809 Badia 0524 Assagio Classico 707710	500	Epallet Inc.	No bid	Badia Spices	00524	1.5 lb.	6	\$6.46	83	\$38.76	\$3,230.00	Min. order 1 pallet of Badia Spices, can be mixed in even layers. Each layer has 28 cases.	3 weeks	PACKET DEEMED NONRESPONSIV E. SUBMITTED AFTER DATE SUBMISSION DEADLINE.

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidders Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1363	CASE	Vegetable Base, Low-Sodium - Shelf stable, low sodium vegetable base. In paste form. No added MSG. Gluten free. Less than 140mg sodium per serving. No preservatives or artificial flavors. Made from vegetables to include onion, celery, and carrots. For hot and cold applications. Approximate pack - 6/1 lb containers per case Ship Lot: 100 Cases	Custom Culinary 0844	300	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
1371	CASE	acceptable. Packed: 12/3 lb boxes per case.	TRU FLO 24044 Morton TFC Purex Morton H-I- Salt-TFC Purex-50 Cargill 7499 Badia 40494	400	Epallet Inc.	Net 30 days	Badia Spices	40494	42 oz.	4	\$4.32	100	\$17.28	\$1,728.00	Min. order 1 pallet of Badia Spices, can be mixed in even layers. Each layer has 28 cases.	3 weeks	PACKET DEEMED NONRESPONS E. SUBMITTEI AFTER DATE SUBMISSION
1373	CASE	garlic, cayenne pepper, onion, black pepper, red and green bell pepper, herbs and spices. Case to contain 6/16 - 21 oz. plastic resealable containers. Ship Lot: 100 Cases	McCormick 974235 Assagio Classico 710558 Badia 00616	300	Epallet Inc.	No bid	Badia Spices	00616	23 oz	6	\$6.62	50	\$39.72	\$1,986.00	Min. order 1 pallet of Badia Spices, can be mixed in even layers. Each layer has 28 cases.	3 weeks	PACKET DEEMED NONRESPONS E. SUBMITTEI AFTER DATE SUBMISSION DEADLINE.
1373	CASE		McCormick 974235 Assagio Classico 710558 Badia 00616	300	Sysco Memphis, LLC	net 14 days	McCormick	974235	6/18oz	638	\$0.14	0	\$88.49	\$41.61		4 weeks	
1377	CASE	white, 4-5% acetic acid. Ship Lot: 100 Cases	Sysco Memphis LLC (911123) GFS/Woeber 7468000211 Packer 4713475 Kaiser # 08371 Gordon Mizkan America's 107247 Garden Club #608054100 Rich In All 526-18999	800	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidders Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1381	CASE			250	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
1652	CASE	Sugar, Granulated, Individual Packet - Individual serving packet of granulated sugar. Approximately 2g serving packet. Approximate pack size: 500/case. Ship Lot: 200 Cases	No Approved Brands	600	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
1731	CASE	Italian Seasoning - Spice blend of dried basil, dried oregano, dried rosemary, dried thyme, amd dried marjoram. Approximate Pack: 6 containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	Badia 00720	400	Epallet Inc.	Net 30 days	Badia Spices	00720	5 oz.	6	\$2.77	67	\$16.62	\$1,108.00	Min. order 1 pallet of Badia Spices, can be mixed in even layers. Each layer has 28 cases.	3 weeks	PACKET DEEMED NONRESPONSIV E. SUBMITTED AFTER DATE SUBMISSION DEADLINE.
1918	CASE	cheese blend of cheddar and parmesan cheese. Add water to reconstitute. When	Foothill Farms 575T-T0700 Chef's Companion 5747920 Chef's Companion 57463 Custom Culinary - 12935BCFP	1200	Robbins Sales Co, Inc.	N30	Chef's Companion	57463	8/16oz	312	\$0.15	1,200	\$47.37	\$56,844.00	5,000# Minimum Shipment. Products can be combined with any Dyma Brands item to meet minimum ship weight. Pallets can be mixed when ordered in layer quantities	3 Weeks	
1918	CASE	cheese blend of cheddar and parmesan cheese. Add water to reconstitute. When	Foothill Farms 575T-T0700 Chef's Companion 5747920 Chef's Companion 57463 Custom Culinary - 12935BCFP	1200	CHURCHFIELD TRADING	NET 30	CH GUENTHER	94341	6/16OZ	240	\$0.16	1,200	\$38.34	\$46,008.00		14-21 DAYS	SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidders Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments O	TIME FROM PRDER WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16 Co	lumn 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1918	CASE	cheese blend of cheddar and parmesan cheese. Add water to reconstitute. When	Foothill Farms 575T-T0700 Chef's Companion 5747920 Chef's Companion 57463 Custom Culinary - 12935BCFP	1200	Sysco Memphis, LLC	NET 14 DAYS	Nestle- trio	385024	8/16oz	304	\$0.29	1,200	\$88.16	\$105,792.00	4	weeks	
1918		cheese blend of cheddar and parmesan cheese. Add water to reconstitute. When	Foothill Farms 575T-T0700 Chef's Companion 5747920 Chef's Companion 57463 Custom Culinary - 12935BCFP	1200	DYMA BRANDS, INC.	1% 10/NET 11	CHEF'S COMPANION	57463	8/16Z	312	\$0.1378	1,200	\$43.00	\$51,600.00	MAY BE COMBINED TO MEET MINIMUM SHIP WEIGHT. PALLETS CAN BE MIXED WHEN MANUEL OF THE WEIGHT.	EEKS TO E MAXIMUM LIFE UPON ERY. MOST PO'S FACTURED I RECEIPT.	AWARD
1919	CASE	Ranch Dressing, Light or Fat Free - Prepared, ready to use in 4/1 gallon jars per case. Contains no MSG. Creamy white color with a touch of garlic, onion, spices and black pepper for high quality ranch dressing. Should contain no more than 3 grams of fat per 2 tablespoons of dressing. If packed differently, please indicate. Ship Lot: 250 Cases	Marzetti 80088	500	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
		Base, Beef - Shelf stable, low sodium beef	No Approved Brands														
2303		Base, Beer - Shell stable, low sodium beer base. In paste form. No added MSG. Gluten free. Less than 140mg sodium per serving. No preservatives or artificial flavors. Made from beef stock to include salt, sugar, and hydrolized com protein. For hot and cold applications. Approximate pack - 6/1 lb containers per case. Please indicate if packed diferently. Ship Lot: 100 Cases	но дриочей pianus	300	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidders Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSC's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
2304	CASE	MSG. Gluten free. Less than 140mg sodium per serving. No preservatives or artificial flavors. Made from chicken stock to include vegetables and herbs. For hot and cold applications. Approximate pack - 4/1 lb containers per case. Please indicate if packed diferently.	Chefs Companion 57463 Foothill Farms 575T-T0700	300	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
		Ship Lot: 100 Cases															
2319	CASE	Oats, Dry - Bulk, quick cooking whole grained rolled oats. Must provide CN label or crediting statement the child nutrition program. Approximate pack size: 12 42 oz. canisters. If packed differently, please indicate. Ship Lot: 200 Cases	No Approved Brands	400	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
2332	CASE	Sweet Chili Sauce – Traditional chili sauce flavor. Bright red in color. Made with pureed or chopped chili peppers, vinegar, sugar, salt, and other spices/seasonings. Ready to use, resealable pack. Approximate pack size: 4/1 gallon containers. Ship Lot: 200 Cases	No Approved Brands	500	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
		Pickles, Dill Pickle Spears - Each jar is	No Approved Press														
3100		Pickles, Jill Pickle Spears - Lach jar is securely sealed to prevent leakage and contains a resealable lid for each jar. Approximately packed in a case with 100 spears per jar. 4/1 gallon resealable jars per case.	No Approved orangs	600	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
		Ship Lot:															

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidders Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.													
5056	CASE	with vegetable oils and lecithin. To contain	Conagra Foods, Inc./ Pam (64144-63111) Vegalene 22021	400	SYSCO MEMPHIS LLC	Net 14 days	Vegalene	22021-4062	6/21oz	14280	\$0.01	400.0000	\$35.42	\$14,168.00		4 weeks- from DOT	AWARD

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number Needed (Each) (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidders Manufacture Product Code	Pack Size	Number of Containers per Case	Cost Per Container	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
		Pleate Page of Co. 1	Sauer 00918														
1338	EACH	Coarse Ground only powder	Sauer 00918 Badia 10543 Assagio Classico 707742	480	Epallet Inc.	Net 30 days	Badia Spices	10543	16 oz.	6	\$6.42	2,880	38.52	\$110,937.60	Min. order 1 pallet of Badia Spices, can be mixed in even layers. Each layer has 28 cases.	3 weeks	PACKET DEEMED NONRESPONSIV E. SUBMITTED AFTER DATE SUBMISSION DEADLINE.
1338	EACH	Coarse Ground only powder	Sauer 00918 Badia 10543 Assagio Classico 707742	480	Sysco Memphis, LLC	Net 14 days	McCormick- syscls	900030149	6/18oz	6	\$9.98	80	60	\$4,788.80		3 weeks	NO SAMPLE SENT
			D. II. 00500														
1340	EACH	Chili Powder - Spice Blend of ground dried chile, cayenne pepper, cumin, garlic powder, paprika, oregano, and onion powder. Approximate Pack: 6 containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	Dauid VV3V3	300	Epallet Inc.	Net 30 days	Badia Spices	00509	16 oz.	6	\$7.14	50	42.82	\$2,141.00	Min. order 1 pallet of Badia Spices, can be mixed in even layers. Each layer has 28 cases.	3 weeks	PACKET DEEMED NONRESPONSIV E. SUBMITTED AFTER DATE SUBMISSION DEADLINE.
1340	EACH	Chili Powder - Spice Blend of ground dried chile, cayenne pepper, cumin, garlic powder, paprika, oregano, and onion powder. Approximate Pack: 6 containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	Badia 00509	300	Sysco Memphis, LLC	net 14 days	McCormick- imp/mcc	974250	6/18oz	6	\$9.57	50	57	\$2,871.50		3 weeks	NO SAMPLE SENT

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number Needed (Each) (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidders Manufacture Product Code	Pack Size	Number of Containers per Case	Cost Per Container	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1342	EACH	Spice, Cumin, Ground - Ground cumin with rich aroma and flavor. Approximate Pack size between 12 -16 oz. containers.Please indicate if packed differently. Ship Lot: 100 Cases	Badia 00516 Assagio Classico 25718	300	Epallet Inc.	Net 30 days	Badia Spices	00516	16 oz.	6	\$6.28	50	37.68	\$1,884.00	Min. order 1 pallet of Badia Spices, can be mixed in even layers. Each layer has 28 cases.		PACKET DEEMED NONRESPONSIV E. SUBMITTED AFTER DATE SUBMISSION DEADLINE.
1342	EACH	Spice, Cumin, Ground - Ground cumin with rich aroma and flavor. Approximate Pack size between 12 -16 oz. containers.Please indicate if packed differently. Ship Lot: 100 Cases	Badia 00516 Assagio Classico 25718	300	Sysco Memphis, LLC	Net 14 days	McCormick- Syscls	974065	6/14oz	6	\$4.87	50	29	\$1,460.00		3 weeks	NO SAMPLE SENT
1350	EACH	Cinnamon, Pure Ground - Cinnamon dark, fine ground. Approximate Pack: 12/16 oz containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	Trade East/ACH FD 22472 McCormick 00223208 Sauer 01062 Badia 0511 Rodelle 085981150661 Assagio Classico 708096	180	Epallet Inc.	Net 30 days	Badia Spices	00511	16 oz.	6	\$6.61	30	39.67	\$1,190.10	Min. order 1 pallet of Badia Spices, can be mixed in even layers. Each layer has 28 cases.		PACKET DEEMED NONRESPONSIV E. SUBMITTED AFTER DATE SUBMISSION DEADLINE.

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number Needed (Each) (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidders Manufacture Product Code	Pack Size	Number of Containers per Case	Cost Per Container	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1350	EACH	Cinnamon, Pure Ground - Cinnamon dark, fine ground. Approximate Pack: 12/16 oz containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	No Approved Brands	180	Sysco Memphis, LLC	Net 14 days	Mccormick- syscls	900029825	6/18oz	6	\$6.37	30	38	\$1,147.20		3 weeks	NO SAMPLE SENT
2345	EACH	Smoked Paprika - Pure, ground, Spanish, smoked flavor. Approximate pack - 6 containers per case. Please indicate if packed differently. Ship Lot: 50 Cases	No Approved Brands	360	Epallet Inc.	Net 30 days	Badia Spices	00673	16 oz.	6	\$5.80	60	34.78	\$2,086.80	Min. order 1 pallet of Badia Spices, can be mixed in even layers. Each layer has 28 cases.	3 weeks	PACKET DEEMED NONRESPONSIV E. SUBMITTED AFTER DATE SUBMISSION DEADLINE.
2323	EACH	Granulated Powder, Onion - Onion granules to be made from pure dehydrated onions. Approximate Pack: 6 containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	No Approved Brands	500	Epallet Inc.	Net 30 days	Badia Spices	00620	18 oz.	6	\$4.53	83	27.15	\$2,262.50	Min. order 1 pallet of Badia Spices, can be mixed in even layers. Each layer has 28 cases.	3 weeks	PACKET DEEMED NONRESPONSIV E. SUBMITTED AFTER DATE SUBMISSION DEADLINE.

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number Needed (Each) (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidders Manufacture Product Code	Pack Size	Number of Containers per Case	Cost Per Container	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
2323	EACH	Granulated Powder, Onion - Onion granules to be made from pure dehydrated onions. Approximate Pack: 6 containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	No Approved Brands	500	Sysco Memphis, LLC	Net 14days	Mccormick- syscls	974511	6/20oz	6	\$5.79	83	35	\$2,895.00		3 weeks	NO SAMPLE SENT
2324	EACH	Oregano - Spice blend of black pepper, bay leaves, garlic powder, red chilli powder and other spices. Approximate pack - 6/1 lb containers per case. Please indicate if packed differently. Ship Lot: 100 Cases		360	Epallet Inc.	Net 30 days	Badia Spices	00540	5.5 oz.	6	\$3.26	60	19.54	\$1,172.40	Min. order 1 pallet of Badia Spices, can be mixed in even layers. Each layer has 28 cases.	3 weeks	PACKET DEEMED NONRESPONSIV E. SUBMITTED AFTER DATE SUBMISSION DEADLINE.
2324	EACH	Oregano - Spice blend of black pepper, bay leaves, garlic powder, red chilli powder and other spices. Approximate pack - 6/1 lb containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	No Approved Brands	360	Sysco Memphis, LLC	Net 14days	Mccormick- imp/mcc	974310	6/13oz	6	\$11.81	60	71	\$4,254.60		3 Weeks	NO SAMPLE SENT

Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number Needed (Each) (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidders Manufacture Product Code	Pack Size	Number of Containers per Case	Cost Per Container	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.													
2344	EACH	Seasoning, Jerk - Traditional blend of thyme, red peppers, paprika, and all spice seasoning. Bright red in color and spicy aroma. Ready to use, resealable pack. Approximate pack size: 6/1 lb containers per case. Please indicate if packed differently. Ship Lot: 200 Cases	No Approved Brands	450	Epallet Inc.	Net 30 days	Badia Spices	00736	24 oz.	6	\$6.80	75	40.83	\$3,062.25	Min. order 1 pallet of Badia Spices, can be mixed in even layers. Each layer has 28 cases.	3 weeks	PACKET DEEMED NONRESPONSIV E. SUBMITTED AFTER DATE SUBMISSION DEADLINE.
2344	EACH	Seasoning, Jerk - Traditional blend of thyme, red peppers, paprika, and all spice seasoning. Bright red in color and spicy aroma. Ready to use, resealable pack. Approximate pack size: 6/1 lb containers per case. Please indicate if packed differently. Ship Lot: 200 Cases	No Approved Brands	450	Sysco Memphis, LLC	Net 14 days	McCormick/Imp /mcc	974417	6/18oz	6	\$13.22	75	79	\$5,947.50		3 weeks	AWARD SAMPLE SENT SAMPLE PASSED
5056	EACH	Seasoning, Dill - Made with a blend of dried spices flavored with dill, onion, and parsley. Fresh flavor with a tinge of sweet-like rye notes. Approximate pack size: 6/1 lb containers per case. Please indicate if packed differently Ship Lot: 200 Cases	No Approved Brands	210	Epallet Inc.	Net 30 days	Badia Spices	00560	7 oz.	6	\$3.63	35	21.81	\$763.35	Min. order 1 pallet of Badia Spices, can be mixed in even layers. Each layer has 28 cases.	3 weeks	PACKET DEEMED NONRESPONSIV E. SUBMITTED AFTER DATE SUBMISSION DEADLINE.

Stock Number	Unit	Description	Approved Brands (Manufacturer Product Code)	Estimated Number of Pounds (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Product Code	Pack Size	Estimated Pounds per Case	Cost per Pound	Required Number of Cases	Cost per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	IN CASES.												
1267	POUND	Parboiled - Whole grain, brown	Par Excellence By Producers Rice (R2PX25QC0) Uncle Ben's 12111 Uncle Ben's 423510	25,000	Sysco Memphis, LLC	Net 14 days	Uncle Bens/mars	423510	1/25#	25	\$1.17	1000	\$29.36	\$29,360.00		3 weeks - from DOT	AWARD

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process. To be considered for the bid, a sample must be submitted for any item with no approved brand listed.	ALL SHIP LOTS ARE IN CASES.												
1121	SERVINGS	Eggs, Hard Boiled - Medium precooked hard boiled eggs. Peeled and diced. No added preservatives. Packed in a dry pack pouch. Must meet 1 oz. meat/meat alternate for the Child Nutrition program. Approximate pack size: 144/case. Please provide CN label or crediting statement. Ship Lot: 200	No Approved Brands	100,800	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			
1817	SERVINGS	Cheese, Sliced, Pepperjack - Slices to equal 1/2 oz. CN Label or crediting statement required to show the serving size of 1/2 oz. M/MA. Packed: 4-5 pound blocks. Packed 640 1/2 oz. slices/case. Serving = 1 slice. Ship Lot: 200	Bongards 114441	320,000	Bongards Creameries	Net 30	Bongards	114441	4-5 lb	640	\$0.09	500	\$56.02	\$28,010.00		2	AWARD
2307	SERVINGS	Cheese Cubes, Cheddar - pasterized natural mild cheddar cheese cubes made from cows milk. Serving size to provide 1 oz. meat/meat alternate for the Child Nutrition program. Approximate Pack: 4/5 bags per case. Please indicate if packed differently. Ship Lot: 200	No Approved Brands	200,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process. To be considered for the bid, a sample must be submitted for any item with no approved brand listed.	ALL SHIP LOTS ARE IN CASES.												
2310	SERVINGS	Tofu, Pre-Pressed - Refrigerated Soy based protein substitute. Product must be assily recognized as a meat/meat alternate substitute and must contain at least 5 grams of protein per 2.2 oz. serving by weight (1/4 cup volume equivalent) to credit as 1 oz. meat/meat alternate. Please provide a Product Formulation Sheet to verify crediting. Serving size equals 2.2 oz. Please indicate if packed differently. Ship Lot: 150	Franklin Farms K514	100,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
2328	SERVINGS	Butter Flavored Whipped Cups, IW - Whipped butter spread, fluffy, airy, lightly salted, and ready for spreading or topping, Individually wrappped 5 gram portion size. Approximate Pack: 1000 per case. Please indicate if packed differently. Ship Lot: 200	No Approved Brands	300,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
2334	SERVINGS	Cheese, Mozzarella/Provolone Blend, Shredded - blend of shredded mozzarella and provolone pastuerized natural cheese made from cows milk. Serving size to provide 1/2 oz.meat/meat alternate for the child nutrition program.	No Approved Brands	400,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Servings per Case	Cost Per Serving	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process. To be considered for the bid, a sample <u>must</u> be submitted for any item with no approved brand listed.													
2343	SERVINGS	Yogurt, Vanilla - Refrigerated, lowfat yogurt with sweet and smooth vanilla flavor. Uses a reduced fat milk for creamy texture. 6/64 oz. bags. Please indicate if packed differently. Ship Lot: 200	No Approved Brands	150,000	CHURCHFIELD TRADING	NET 30	GENERAL MILLS	16632000	6/64 OZ	64	\$0.42	2,344	\$26.90	63045	SAMPLE SENT MIN ORDER 252	14 DAYS	AWARD SAMPLE SENT SAMPLE PASSED

А	В	С	D	E	F	G	Н	1	J	K	L	М	N	0	P	0	R
Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Pounds (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidder Manufacture Product Code	Pack Size	Estimated Pounds per Case	Cost Per Pound	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
2 Column	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
3		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process. To be considered for the bid, a sample must be submitted for any item with no approved brand listed.	ALL SHIP LOTS ARE IN CASES.												
1210	POUND	Margarine- Refrigerated, 100% pure vegetable oil, solid packed, must be trans-fat free. Packed: 30-1 pound pkgs/case, individually wrapped. Ship Lot: 250	Ventura 16840 Glenview Farms 4307499 Glenview Farms 12935USS Glenview Farms 884941 Gold n' Sweet 21547 Sysco 4583322 Sysco 5164175 Sysco 4549099	25,000	CHURCHFIELD TRADING	NET 30	GOLD N SWEET 21547	21547	30/1	30	1.67	833	\$50.00	\$41,665.00	MIN ORDER 350 CS	14 DAYS	AWARD
2328	POUND	Butter- Refrigerated, 100% pure vegetable oil, solid packed, must be trans-fat free. Packed: 30-1 pound pkgs/case, individually wrapped. Ship Lot: 250	No Approved Brands	25,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID

Memphis-Shelby County Schools (MSCS) 2024-2025 SY Commodity Processing and Commercial Equivalent Bid Commodity Processing - Frozen By the Serving

Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2024 - 2025	Vendor	Terms	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)	Case	Pounds of Donated Commodity per Serving	Donated Commodity per Serving	Commodity Processing Fee per Serving	Pounds of Donated Commodity per Case	per Case	Commodity Processing Fee per Case	Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Cases per Pallet	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19	Column 20	Column 21	Column 22	Column 23	Column 23
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response. TO BID THE BELOW ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIVALENT -FRZ/SRV	PACK SIZES WILL BE	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.															EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT			
1473	SERVINGS	Crinkle Cut Potatoes - 3/8 inch ready to be baked, frozen, containing zero grams of trans fat. Made with USDA commodity potatoes (100506). Each serving must meet 1/2 cup of vegetable. Approximately 232 servings per case. Approximate Pack: 6-4 lbs. per case. Ship Lot: 600 cases	McCain Foods (MCF03761)	1,392,000	Sysco Memphis, LLC	Net 14 days	McCain- 6662019	MCf03761	100506	30.00	160	0.16	3.00	8.56	30.00	54.55	\$8.56	\$11.56	\$63.11	8700	\$549,057.00	50	

Memphis-Shelby County Schools (MSCS) 2024-2025 SY

Commodity Processing and Commercial Equivalent Bid Commercial Equivalent-Frozen By The Serving

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2024-2025	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Bidder Terms	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column	Column 12	Column 13	Column 14	Column 15	Column 16
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response. TO BID THE BELOW ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID - FROZEN-SRV	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.										
1473	SERVINGS	Crinkle Cut Potatoes - 3/8 inch ready to be baked, frozen, containing zero grams of trans fat. Each serving must meet 1/2 cup of vegetable. Approximately 232 servings per case. Approximate Pack: 6-4 lbs. per case. Ship Lot: 600 cases	McCain Foods (MCF03761)	300,000	McCain-6662019	SYSCO MEMPHIS< LLCMcCain- MCF03761	Net 14days	235	\$0.17	\$39.62	1276.595745	\$50,578.72	50	4 weeks	
1473	SERVINGS	Crinkle Cut Potatoes - 3/8 inch ready to be baked, frozen, containing zero grams of trans fat. Each serving must meet 1/2 cup of vegetable. Approximately 232 servings per case. Approximate Pack: 6-4 lbs. per case. Ship Lot: 600 cases	McCain Foods (MCF03761)	233	Simplot Infinity Deep V Crinkle Cut 3/8" Fries 1007117903628 9'	Simplot Infinity Deep V Crinkle Cut 3/8" Fries 10071179036 289'	2% 10 net 15 days from invoice or 30 days net	233	\$0.16	\$37.27	1	\$37.27	63	14 Days	COMMODITY AND COMMERCIAL ITEM MUST BE BIDDED

Memphis-Shelby County Schools (MSCS) 2024-2025 SY

Commodity Processing and Commercial Equivalent Bid Commercial Equivalent-Frozen By The Serving

1473	SERVINGS	Crinkle Cut Potatoes - 3/8 inch ready to be baked, frozen, containing zero grams of trans fat. Each serving must meet 1/2 cup of vegetable. Approximately 232 servings per case. Approximate Pack: 6-4 lbs. per case.	300,000	McCain MCF03761	McCain MCF03761	2/10 net 15	232	\$0.16	\$36.00	1,293.10	\$46,551.72	70	10 days	AWARD
		Ship Lot: 600 cases												